«ehERAZA |

«ehERMZA | Model question paper - |
PART - |

PHYSICS & CHEMISTRY
TEvAL ARIVAGA ANTKEAL A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the correct
answer and write the answer in the space provided

1.

Due to heavy traffic near the school the department of traffic police wants to install

automatic traffic lights. This can be done by using the Principle of 1x10=10
a) Raman effect b) Radiography c)Holography d) Photoelectric effect

+ATAIL 8% _AZAg zlu eAr EgidizjAz AZAj ¥ER® gh _AIMAZASV CA¥UYEN ©APRI EallzAg.
Ez£l 2iAq®F G¥AIEAV_ 2 w

C) gh2ifi ¥juA®l D) bAAIIA OASE E) ©A AiU& F) ziw «zAivi ¥juh2i

Water is to be sterilized for drinking purpose without using any chemicals this can be done by using
a) u v rays b) visible light c) short wave length radio waves d) long wave length Radio waves
gh_AAikaP 2 JUVEN G¥AIEAV, zA ohgfll 2AzPAgP QiU MY¥r PirAiM@ algell ¥qAil APAVZ
EzPAV 8Y, kaizi

C) £Agvdwiv QgtU%i D) UEAZg “"%Pk E) Prai vgAUz/AEg2@i: gArAiZA vgAUUY

F) ©zi vgAUz/&Eg2ls gArAiZEA vgAUUY:A

In a heat engine the linear motion of the Piston is converted into rotation by the component
a) spark plug b) Carburettor ¢) Crank shaft d) Fuel injection pump

NF QOBTTY ER0ZT (LFT®) Tedeod BOFONT, PHFOIPN TOTEF YT

C) .APid ¥Ui D) PA8Sdgilgi E) 2PaAq F) EAzE£ EAdPEI ¥A¥i

An engineer wants to design an engine to convert 800KJ of heat into 840KJ of useful mechanical work.
The correct statement related to the above engine is that it

a) is less efficient b) is more efficient c¢) cannot be designed d) is 100% efficient

M& EAFoAilgi £4 800 KJ +AR2£EM 840 KJ G¥AIilP AiiAAwBeP® 2AV ¥jawd i2Ave EAFEEN
«£h UEY ®h Eal_ivAE. F EAFalU _A8AC1zAV® _jAiiAz ©hvP

C) Ezi Prai zPv ©EA¢z D) Ezh ©Zk zPv ©£ACz E) Ez£l «£A_UEY% ®L Azic®

3) am 3e100 I, T3 BROOTI

An astrophysics Scientist observes that galaxy ‘A’ is more red shifted than galaxy '‘B'. The conclusion
that can be drawn from this is that

a) the velocity of ‘A" is more than 'B' b) the velocity of 'B' is more than 'A’

c) both the galaxies have equal velocity d) both the galaxies are at rest.

M8 RUEAY “"Ev «ehoAill URQ 'J' JEIRIZA URQ '©' VAV ©Zi PA¥A ¥®1 ©£Ac¢gi@izEl URia AVAE.
EzjAz PIUEY8PIzAz wiRiABERAEAZY

C) 'J' £ aiUal '© VAv °Zi D) '© £ 2iual 'J' VAv ©Zi

E) Jgg& URQUY: 2iual _ai F) Jggk UBQUYA o+® 1wAii°z.
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10.

In an nuclear reactor, the number of cadmium rods used are less than the required number. Then one of
the possibilities is

a) the reactor may explode b) the chain reaction stops

c) number of fissions decrease d) the number of neutrons decrease

MAZA “"EFP QaiAPAjAIA® 8Y1z PArAifA | g¥%dU% _ASHAIM CUVIQAV Prai Ez. EzjAz DUig°PizAz
MAZA _Aziv.

C) QaiAPAJAIM _/EAn_8°hzA D) .g¥% Q&sh oAvi EAULRIZA

E) «z%EUY%: ,AS! PrajAiiluiaizi F) £EmABUY,  AS PrajaiiAuiaizi,

If emission test is required for an L.P.G run auto rickshaw, the availability of oxygen in moles for
combustion of one mole of butane is

a) lessthan5 b) between 8.5 and 9.5

c) between 9.5 and 10.5 d) more than 10.5

zeos ¥mABBAIMABAZ PAAID 028> i CmAAJPAU &g K I& ¥jiP "APAzg 1| 2L 1 8EMAE z©OF
QaiU z/EgPia D2IDEP &R iUY°

C) 5 VAv Praj D) 85 jAz 95

E) 95 jAz 10.5 F) 10.5 QAv ©Zi

In a soap industry the chemist forgets to add sodium chloride during the manufacture of soap, the
possible effect is

a) soap cannot be easily separated b) chemical composition of soap changes

c) soap will not get required colour d) the solubility of soap increases.

_ASEEL PASAGEAIA® gh_ AAikeP vdgh (ASAEEN VAIIA] A2AU | EArAilA PEAGIqi | AJ , ARizER 2igvi
OQiVAE. Ezg ¥julaicAzAUia Azv

C) .ASE££M @ 2iv ¥edQ, ®h DUIRIC® C) _A8EnE gh_ AAiloP _AAIEADE 8§z AUlvz.

E) .A8koU “APAz §t 8§gidic® F) .A8EEL «°Af@iUialzi ©ZiUivz.

Borosilicate glass is used to make school laboratory equipments because it

a) is highly transparent b) with stands sudden changes in the temperature and transparent
c) has high refractive index d) absorbs radiation

+ATAIL ¥aEAUAAIAZ® G¥PgtUYEL 2iAq®h ~AAgEAr>PAmi UAJEN 8Y%_Avig KPAzg EzA

C) ©zh ¥igz+&P D) vA¥z KjuU%EN vgAilivz 2ivi ¥Agz+dP

E) ©Zi 2Q82E EZAPREN CFACZ F) «QutUVEN »AjPAYivzZ.

Using sodium hydroxide as one of the raw materials it is possible to prepare

a) soaps and detergents b) cement and ceramics

c) glass and plastics d) cement and glass

L EArAiMA OigABgqill RZA2 AUY%° MAZAV 8% vAiiAj, ®h  Az@Auidizi
C) ASEEIUYA 2ivi 2iAdSPUYA D) 212iAmi 2ivA 1gA«iPi

E) UAdA 2kvii ¥ATPT UV F) 12jAmi 2ivA UAdA.

Fill in the blanks with suitable terms ,
JEP ¥zU%AZ ongi® | YUY%EN “"wd 2iAr

56

SCIENCE MODEL |



«ehERAZA |

1. A p-njunction allows current to pass in one direction this is called____ ” 1x3=3
p-n dAPET «zhivi £ MAZA £Agz° 2iAva®jAilRL ©qivz. F QadhAil ©_gh

12. Rader gun works on the principle of
gAgAgi UET P®, 2iAgia wv

13. The device which converts light energy into electrical energy is
“YQE +QAIMEN «zhvi +QAIIAV ¥j2wd A2 AzE£

14. Match the following/£A¢1 8g-ij: 1x4=4
A B
1. Natural Gas/£f, VP Co® L.P.G/zaev ¥aEBBAIM Ca®
2. Butane/SEMAE explosives/, £AIPUY:A
3. Benzene/ E£FEi to detect leakage of L.P.G/zses ¥awEABAIIA Co® _EAJP ¥v ©Zidiz)
4. Toluene/mA=A£Ei emission test/2/£g_ £ A«<P ¥jAP
Carbon black/PASSEI 21
Perfumes/ _ A2A1P

Exhaust gasiomgs ©e

15. A cyclist going round a curve leans towards the centre of the curve. Give reason 1x6=6
P 2AgEl wgheEe ©EAUIRAU wol«E PAAza PQU 2A®IVAE. EzP PAgt PET.

16.  What is a centrifugal governer?
.AnEiei cAilAvBeJAZgAEL ?

17. What is the colour of the star Betelgeuse?
©Al" T VAT £Pvae 8T3ALL ?

18.  Mention the purpose of using a plane glass sheet in a solar cooker?
_Eg CrU M Aik® UAFE 2MZY2EN 8Y A2 GZA+2EM wht.,

19. How does the pressure cooker help in saving energy? ,
¥amyi PiPgi +QAIMEN GlhvAAik 2iAq®L AU | PAAIMPAJAIIAVZ ?

20. Write the balnced chemical equation of the reaction between sodium carbonate and calcium chloride
b/E/“\rAiAA PA"/EAéf;Am'l' Ajvi PACAIM PEAQIQIUY: £gA<E gA_AAikoP QadlAil  2AvEV1Z gA_AAikaP
. <MPgT2£A 8g—Aj.

21 Write any two factors on which the induced EMF depends 2x9=18
¥hpv «zlivi ZA®P §8® C2RAC1IgIa Aiil2lzAzgE Jgqh CAXUVEN wi,

22. Draw a neat sketch of D.C. Dynamo
r.1. qE2£Az CAz2Az ava&El 8g—ij.

23. What is electromagnetic spectrum?
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24,

25.

26.

217.

28.

29.

30.

3L

32.

a) Name the electromagnetic radiations which has
1. the lowest frequency and
2. lowest wavelength
«zhvi PAAWAAIR gEA»v JAZgAER ?
C) CvAv Prai Daw 2ajvi
D) CVAv Prai vgAUzAg Egid«zlivi PAAWAAIA «QgEtUYVER ©_j.

Draw a neat sketch to show the exhaust stroke of an external combustion engine
WHTFTI BOBYT  “VTWE BRET" T, SRCOAT LOTIOT WIWRY, WICWD.

Give scientific reasons for the following

E2luvU 2ehaP PAgt PEY.

a) lron articles are electroplated with chromium

C) POtz 2 MUVEl PEBiAIlACAZ «zivi ~R¥E 2iAgivig.

b) Calcium silicate is a protective layer for the molten iron in the blast furnace
D) Hzi Pi®i2IAIA° zser POTP PACAIMA 1°Pimi gPuk PRZ2AVgivz.

c) Copper is not used to prepare hydrogen in the laboratory

E) ¥&/EAU A Aike olqBdEi Co®2£N VAIiAJ  ®L vAiRI&EN 8Y_i2lce.

d) Ore of copper is not concentrated by hydraulic washing

F) ©jAilid ahjoAz vEYVAiMRIzg 2MEGP vidiae CEegell  Ag2¢d, [alee.

what is the role of magnesium and dilute hydrochloric acid in the preparation of silicon
1opAET VAIIAJPAIA® 2AVIATAIA 2ivi zA83® ©iqEEREAJPI D2z ¥AVAHEL?

write the steps involved in recycling plastics. “
¥ALPT £ ¥AEQI SYiIPAIA® MUUEArgh2 CAVUZEA 8g—Aj.

Name two types of hardness in water. On what principle can hardness of water be removed?
oAJ£ Ug, ivEz Jggh «zU%EN ©_ 1?2 AiiA2 vz 2k ohj£ Uq, AvE2ER o2igu 2iAg AUlvz?

Draw a circuit symbol of each of the following

a) Forward biased diode b) transistors of n-p-n
F PUPAQ ¥a&Ai£AZPE 2IAQ® APAVREN 8§g-ij.

J. ajiglg - MeIAA - gAiEAqi  ©. n-p-n mAe gi

State the universal law of gravitation . prepare it by a mathematical equation 3x4=12
«+ aji! Ulghv oAilaiagl Ye¥Act Ez£H MAZL | «MPgtz gh¥z° agklz,

What is impure spectrum? Why is Raman scattering called incoherent and Rayleigh scattering called
coherent scattering. On what basis did Raman give satisfactory explanation of incoherent scattering?
CHizl gEA»v JAZgAER? gARIET ZzjP JAZA @i gh~ ZzjPAIREN (A P ZzjP J£livig KP? C_A_P
ZzjPU gh2ifigh AiiAl2 DzAgz 2k _2i¥oPaiz 2ASAIEL chrzgi?

If the present mass of a radio active element is 3.125 gm and its half life period is 8 days. What was its
initial mass before 40 days.
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33.

34.

35

36.

WOTN NBTLO LD FODND @mroﬁma‘%@ 8 QOIND. BN T3 TRRTT S TR T, 00 3.125 MO
Ez. 40 ¢EUY »Az EzA zAVi«E Z%A2 K ¢vA?

Draw a neat diagram of the device that converts nuclear energy into electrical energy.
THP 2QAIMEN «zlivi +QAITAV ¥jawd i _Az£z CAz2Az ava£ll 8gij

State the law of conservation of momentum. “The escape velocity on the earth is 4x3=12
11.2km/s” what does it mean? How are orbital and escape velocities related to

one another? At what height geostationary statellite is launched.

_A2IU _AgPuA wWREH ¥a¥AC1 TE«AIL 2 «2EAZEA 20U _PArU 11.2 Q.«ih. Ezg CXd2AEN?
DWREWTD VNP 3TY VENTRTIS Bert FOLOPIR, TROVTI? m,%éd NTABB, T, FBSY m@&mﬁefo?

How does a protostar attain the steady state? What is a neutron star?
D¢ £Pva LglwAilEl @MU vRI¥ivz? £EmMABS £PvadAzghEL?

Draw a neat diagram of each of the following

1. Blast furnace used to extract iron 2. Electrolytic refining of copper.
E2luv,° ¥aAi£AZPE CAz2iz av&El 8gij.

L POtz Gzgtz® 8% A HzA PIGRIPA 2 =o@s amye ogexme Bescee

BIQLOGY
oA A

FOURALTERNATIVES ARE GIVEN TO EACH STATEMENT CHOOSE THE CORRECT ANSWER
AND WRITE IN THE SPACE PROVIDED |
Yadi£AzL 2APPE £ARN DAIMUYEN cAq AVz. _j Gvg2£l DAIl 2iAr PENgi® | %z®° 8g-ij.

One of the following statements is true. 1x5=5
a) Ragi plant has parallel venation and cotyledon raises above the soil during germination.

b) Ragi plant has parallel venation and cotyledon remains below the soil during germination.

c) Ragi plant has reticulate venation and cotyledon remains below the soil during germination.

d) Ragi plant has reticulate venation and cotyledon raise above the soil during germination.

F P1/4V£aAU1/4° MAZA 24Pi _jAiiAVz

C) giv _ @&l =2ifhAvg £AY «£A, ©EACZA, OAd 2EVAIMRAU ©RdzY: K. gz aji—AUP 8givz.
D) giv . aA LBUEAAVG £AY: «EA, ©EACZH, OAd 2EVAIlSAU ©/?\dz1/4 E. gz PYU GYhAilivz..
E) gAV . .2 el®8Az £A% «£A, ©EACZA, OAd 2EYAINEAU ©AdzY: "k gz P GYAilivz..
F) ghv aA el®8Az £V «£A, ©EACZH, OAd 2AYVAIM2AU OAdzY: ~"E_ gz 2M AUP Sgivz.

A person is advised not to donate blood after being tested for ELISA, because he is infected by
a) HIV B)HBV c¢) HSV d) SIV
aAIM 'J° A ¥JAPU MY¥ID £Avg DVEL gPzAE 2iAgzAv _®° wigq AVz. KPAzg C2al
vUegia _ EAAPA
C.©Zi L« D)®°Zib« E. °Z. J,i « F. J.iL«
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After being pricked by a thorn, a boy withdraws his leg immediately. The center of this action is
a) Cerebrum b) Cerebellum c) Spinalcord d) Hypothallamus

OlqIUEES 2}iVA vilz VPt PAREN »AzP JVizAPAYAVAE. F QadlAil PAAZzae

@) DTOTAF,  C) OVWAZ, Q) DWW WY ) éémwmmx@

Vegetative reproduction found in multicellular alage is a natural process of

a) Cloning b) DNA finger printing c) Genetic engineering d) Recombining DNA
§OIPEAZAIL HARUY® £qAIMa PAAIAD JAWAIA | AVAEAAVW ¥eaalAiMl A A«P

C) PEAAUI D) r.J£iJ. "giiZh E) Vi VAVeAE F) ¥Egi | AAIEAFV r.J£iJ.

Blood report of a 40 year old person indicates high glucose level. He may be at risk of getting.

a) Glaucoma b) Cataract ¢) Astigmatism d) Retinopathy

3@5{3& wa;cs 55{1033 o waegojag NRERA T B0y &”zsgﬁda@cﬁa TOWD wdos_socf. 83 88 zﬂ.ram%_é
VAVAURR _Aziv ©ZAVjvz.

@) MRIRE[T  ©) BRSO V) VID TIBRER ) TuIpess

MATCH PART 'A'WITH PART 'B': 1x4=4
A B
1. Areolar tissue a) Provides frame work to Spleen
KjAIZEA Agi CAUAA+ UIRP ZEPIEN MzV vz,
2. Ligament b) attaches muscles to bones
VAVAP LA CAATMUYEN 20E%U%U 8AG  Avz.
3. Adipose tissue c) digests toxic substances
Cr¥AEA i CAUAA+ £AdL ¥ZAxOULEN FAED ivz.
4. Tendones d) provides frame work to entire body
JAAIM gdi ErA zAoP ZEPLEN MzV _ Avz.

e) attaches one bone to another

MAZA SAEYAIRER EEEIAZA 2UEYU 8AC vz,
f) avoids friction in joints

eIV PREBODR, LT,
g) acts as a shock absorber

DWAv »AigPzAv 2w vz,

ANSWER THE FOLLOWING QUESTIONS INAWORD ORA SENTENCE
F PUVE ¥aiUhU MAZA ¥z Cx2A MAZA 2iPiz° Gvjt

What is biotechnology ? 1x4=4
etl«P VAveslE JAZgAER?

Which important characteristic feature of selaginella depicts that it is highly
evolved than Riccia ? , ,
. AFETA JOAIIAVAV ©Zi «PA_UEArz JENRIZEN ¥qPj .12 ¥&IR ULE®PTL AiiAaizi?

Ramya experiences numbness in herlimbs due to accumulation of watery fluid, name the disease and
adulterant that has caused it. ) o o “ “ o )
g2y, PIPA®IUY° cAJEAVe z& #iRgu AiilVgialzjAz efl@il »regivz. C2vk Sv@lwgia gAAU
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AiiAalzAi? EzP PAgt2iz P® "gP & _ka£l ©_j1?

10. Why is goiter called an endemic disease ?
UY%UAQ gEAUREN _AoP 2A¢ JAZA KP PgAilivig?

ANSWER THE FOL!_OWING IN 2 OR 3 SENTERNCES EACH
Jgqi 2ivik 2Egh 24APIUY° Gvjt

1. How are ear and throat connected ? What is its advantage ?. o 2x6=12
Q« vl UAI®L CAU _A¥Pd CEAC2? EzJAZAUIR ¥aaEAdERAEL?

12.  Raju resides in an area where not much of lichens are found. List any four health hazards he may be
suffering from ) , , , , o ) “ “
P@I ©EUYA ©ZAV E®z ¥ad+z° ghdh 2A1 iwzAE. C2EL 8Y@Iwg8PizAz £A®N DgEAU: |2 IUYEN
¥n 2jAr.

13. Explain the structure of HIV in 200f 3 sentences.
OZi L « gZEAILEN Jggh Cx2A 2UEgh 2APIUYS «2j1,

14. Mention one function of the following.

a) Sclereids , b) Companion cells
PUPAQRIUY: MAZA PAAIAGZEN wipt
J) 1:giqi ©) ,AUkw FiapEi+

15.  How can vanaspathi in ghee be detected ?
vi¥ze af w Egi«PAIEN @MU ¥v ©Z8§°iaizi?

16. Astudent has uprooted a weed plant in the school garden. The student infers that it is a dicot plant.
Support the inference.
M8 «zAydAill vEI +A~A vEALZ® MAZA Py _ £ "Agh 2@ikv Qvi £EAQ AV Czh ¢z¥% @AZA
WARIADEP §gidlzizg C wARIABEP o2l ¥ifAPgE cir.

ANSWER THE FOLLOWING
PYUVE ¥a))U Gvjz.

17. How does electrochemical fixation take place during nitrogen cycle ? 3x2=6
£imEBET ZP&® «zlivi gh_AAikeP 1jAPgtal ©AU GAmAUivz?

18. Draw a diagram to show external features of fish and label any two parts -
«lhaf Aol gZEAIRER VEA] & avaEl 8gzh AiildizAzgk Jggh “AUUVEN Ulgiw.

19. Draw a diagram of vertical section of human brain and label any four parts. 4x1=4
AAERE «hzhE olvibiz £EAMZ avaEll 8gzh AiilRizAzgE E£AGL "AUUYER Ulgiw?.

*khkkkkhkkkhkkikkkikik
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Model question paper - Il
PART - |

PHYSICS & CHEMISTRY
“EvAL ARAGA AATIEAL A
For Each multiple choice question four alternatives are given. Out of these alternatives choose the

correct answer and write the answer in the space provided 1x10=10

1. M8 CmEARE T i CAUr—iAz vEl 2ie£ag zigll 2iAg®i Qr  uAilEl RjAC AVAE.
D &Q @kA¢gia @icEzogia JAFE

1)  ¥mkkei JAFE 2) rik i JAFEi

3) §»z3°F£ JAFE 4) CAvzd©f£ JAFEi

A person buys a spark plug from a automobile shop. The engine present in his vehicle is
(1) Petrol engine (2) Diesel engine

(3)External combustion engine (4) Internal combustion engine.

2. _ASEEL VAIIAJPAILS G¥ GVEICAz _ASAEIEEN ~A¥Or @k v & & |
a) ,EArAildii ©igheg qi b) . EArAiidii PEAgqi
C) ¥AEPESA d V. ghi
The substance used to separate the soap from the by product during saponification is
(1) Sodium hydroxide (2) Sodium chloride
(3) Animal fat (4) Glycerol
3. rh i JAFEIES rA_ i E£iePi DUiRIZA
a) .AMAQEA @Eqvz PEEAiA° b) .A'AQfA ©£qvz DgAz°
c) TIQPEqvz DgAz° d) “lQeEquz PEEAiL®
In diesel engine diesel is injected into the cylinder
(1) At the end of compression stroke (2) At the beginning of compression stroke
(3) At the beginning of intake stroke (4) At the end of intake stroke

4. PP gVIU%EACU «i+Bblvgia £ VOP gViU%ENL ¥v 2iAr A¥Or @ GX0iEAV, §°iziz «zivi
PAAWAAIA vgAUZ  D3w
1) &P+ vgAUz DawVAv Prai Eg'APA  2) ziUEIAZg “"YQE D2wVAv Prai Eg  APA.
3) ziUERZg “vQVAv ©Zh ajvi JPi-Qgtz DwVAv Prai Eg APk
4)  £hg¥wiv QgEQAv Prai Daiw Eg APA
The frequency of electromagnetic radiation used to detect & separate the real gems Which are mixed
with artificial gems.
(1) Should be less than that of microwaves. (2) Should be less than that of visible light.
(3) Should be greater than that of visible light & less than that of X-rays
(4) Less than that of ultraviolet waves
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10.

11.

QBémi DIUAg 2BeAAVEL J_ z ZArE 2AUREN CUAIN®L GY¥AIELV, 89lzAz _Az£
a) SONAR b) ghgigi UEi  ¢) ECG d) RADAR

The device used to find the velocity of a ball bowled by cricketer Srishanth

(1) SONAR (2) RADARgun (3) ECG (4) RADAR

M8E 8mAii°gi® D«MAIA PTAIREN VUAII®L EzA AP

a) EArAilaii ¥A«imimi b) . EArAiiaii N°Ailimi

¢) . AArAidii giq, i T Ami d) | EArAikaii 2AAikgAmi

Which of the following is used to remove acidic stain on clothes

(1) Sodium palmitate (2) Sodium oleate (3) Sodium dodecyl sulphate (4) Sodium stearate

TP «zhivi ARgz° TEQAEIE | g¥dU% PEgQv GAmizg DU ¥juAi

1) QaidPAj &AL kvz 2) P Q&g c®ivz

3) U8 zee vz 4)  «zhvi Prai GwwAiiAUivz

In a nuclear power plant the scarcity of boron rods results in

(1) Bursting of reactor (2) Nuclear reaction is completely stopped
(3) Melting of core (4) Electricity generation decreases

aj gz VAiiAJPAIL® 1Az UADEN G¥AIZAV @k PAgt

1) Cviz ¥igzzopPaivgialzh 2ivi caf 2Qks2f £ZAP Egidizi
2) THP «Qgt »Agidizi 2ivi Cviiz ¥igz+oPaivgiaizi

3) ©af 20E2E _£ZAP Egidlzi 2ivi P «Qgt »Agiaizi

4) ©2af Mvg2£ll vgAilidizi aivi Cviz ¥Agz+dP2Avgialzi

The reason for using lead glass in the preparation of lenses is ,it is

(1) Highly transparent and has high refractive index

(2) Absorbs radiation and highly transparent

(3) Has high refractive index and absorbs radiation

(4) Withstands high pressure and highly transparent

ZAz#iAE-1 P ozASE PEQRL G¥AIEAV1Z «Qgt

1) X-Qgt  2) C2PA¥ Qgt  3) £igvdwAv Qgt  4) _EP:vgAU
The electromagnetic radiation used to direct chandrayana-1 is

(1) X-ray (2) Infraredray (3) Ultravioletray (4) Microwave

MAZA CUAR®Pi | AAIMP 2 i«E CtivAP 78. Czg°gia 24E®2 UYL EAUA™ @ivi d®JEP Dzg, Czg
Cth, Evee

a) C4H10 b) Ce H14 C) Ce He d) C12 H26

The molecular weight of an organic compound is 78, the elements present in it are carbon and hydrogen
,then its molecular formula is

a) C4H10 b) Ce H14 C) Ce He d) C12 H26

Fill in blanks/©1 % VviA©1j 1x3=3

MAZzL ~ERC2El PA-A1zAU Czg ghz —----- DUlvz
When a metal is heated its resistance
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12.

13.

14.

15.

16.

17,

18.

19.

20.

+oAil GAUlg gZEAIRER whAil®E | Az2Avgialzi ¥julaicAz

The effect that helps us to know about rings of Saturn is

£AGN oigEbdfi OAdUYA | «A®EUEAQA MAZA »A°Aiidii ©Ad2AV +Q ©qiUgAiiAUidizi

LO¥Y%  QaslAiLe

The chain reaction in which four hydrogen nuclei fuse into one helium nucleus with the liberation of
energy is

OFACt 8g.
A B
1 Ji'f/ILPG FyA£i/Ethane
2. 1IEiFICN.G £Ag . g¥t/Straight chain
3. L, /&A ¥AmA£i/lso pentane Fxi i 2igiPA¥£i/Ethyl mercaptan
4. ¥hig ' £i/Paraffine CH,.,
CSHIO
CH,
CH,
F PUVE ¥aUhU MAZA 2APi 2~ Gvj?
Answer the following in One sentence 1x6=6

PiAZAGRIR 8® JAZQAER ?
What is centripetal force?

.2v® g, Ail wglE® g AilEll @AU gatgivig?
How does the roads are constructed at the bends on a level road?

.Eg CrU M Ail ¥nUU UAFE 2liZY%«givz. PAgt PEr.
Solar cooker is covered with a transparent plate of glass -Give reason.

O8QEE cAildi2El ogElL,
State Hubble's law.

el£idAghUvEN _APia 20 +Q OPIIEL ¥j<j [@izP A8AZ¥IAv VUZIPEY§PlzAz PEH2AAEL ?
Write the remedial measure that can be taken by a cattle raring person in order to minimize the energy
crisis.

oAJ£ Ug, AVEP PAgt@Az AiiAdlzAzgE 4 ®@2EUVEN ©_j2
Name any four salts that cause hardness of water.

F PUVE ¥a) U Gvj?,

21.

r.1, aEAmAgiE ava®rt “AUUYER < j1. 2x9=18
Draw a neat labelled diagram of DC Dynamo.
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22.

23.

24,

25.

26.

217.

28

29.

30.

31.

J1. giE2EA 3ivh r.1 giE2EUY: £qgi«E Jggh 2ivA | ULER wh?,
Write any two differences between AC Dynamo and DC Dynamo

F PUVERIULER ©_ j1.

L ¥g2ikth«E E PPAiA°Z E PAEI E, PPU FVAIME Qadk

2. ¥g2iAth«E E, PPAiA°z! E PAEI E, PPU FVAIM= Qéah.

3. ¥gRACIUZED Praf +Q tw—iAz CCP +Q 1wU Kj i ¥eadl

4. ¥gRAtIUZER CCP +Q 1wU Kj ®h “"AC 2ERUYKAZ +QAIEN MzV 2 ¥oadl
Name the following process

(1) Inanatom, an electron from an orbit E, raises to an orbit E,

(2) Inanatom, an electron from an orbit E, jumps to an orbit E,

(3) Atoms are raised from lower energy level to higher energy level

(4) Supplying energy from external source, to raise the atoms to higher energy level

gArOi/A UARPZ “"APi £P Or1
Draw the block diagram of a simple radio receiver.

WLTFTI ONOZT ITWE BRETTJ), ARWIT OB WIB, WRAD.
Draw a sketch of external combustion engine showing exhaust stroke.

d2Id£i % @kvik PAZA ERIUVEL vAiiAj, ®L "APAUI® WIPUYVEN, F PYVERU%AZ DJL 8§g-ij.
vidige Vi, v®g, ©P i

Choose the components used to prepare german silver and bronze,from the following

Copper, Zinc, Tin, Nickel.

1oPAET PAOQIEN @AU ¥qAii§2izA? | «MPgtzAACU «&j1
How silicon carbide is obtained from silicon? Explain with the equation

¥icaljirgt JAZgAER ?F PYVERIUY, 2ELEARIGIUYLEN ©_ 1. 1) m¥AET 2) £F AL

What is polymerization? Name the monomers of the following. (1) Teflon (2) Nylon.

Ug. A ohj£ Jggh CEAEIPARUYEN wht
Write any two disadvantages of hard water.

F ¥a#)»U Gvg 8g—ij/Answer the following questions

UselAil Z®EU _ABAGC1zAv P¥gE 2MEgh cAil2IU%EL §g—Aj 3x4=12
State Kepler's three laws of planetary motion..

ofd| alzighzg F PYUWVE Az "6z° Aiil2 L_EAmAR¥i 8% aQvAIAEl PEQi«].

C) M8 2&(Q PAfginAz 8Yi®lwzAE D) M8E xigA—iqi Uty HEPEArzi, Y@tV PiApv@Avgivz
Imagine that you are a doctor by using which isotope you will treat.

(1) Aperson is suffering from Cancer (2) Growth of a person is retarded due to bulging of Thyroid gland
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32. a) gASho_gt gEh»v2El ©AU ¥qAilgeizi ?
b) gARUET ¥JuARIPE, g™ ZzAgh«PUE Egi® 2ivA_UYAEL ?
a) How can we obtain a line emission spectrum?
b) Write the differences between Rayleigh scattering and Raman effect

F PYVE ¥a)»U Gvg 8g—Aj/Answer the following questions.

33. “HFP «zhivi _ARgz CAz@Az ava8gzh AUUVEN Ulgiwtj.
Draw a neat labelled diagram of nuclear reactor and label the parts.

34. KPPAv gAPmif §z®) §°iCAv gAPmiUY%EN G¥URUY: GgARuUAil® G¥AIEAV  ®i PAGERAEL?
gAPAMIE GgA2uAil® Ui, APAz 2 @@°ijp CAxUvARIA| 2 4x3=12
Why multistage rockets are used to launch the satellite instead of single stage rockets?

Write any two practical aspects need to be considered while launching a rocket.

35. vgz UIZ 2ivii UEA®AIA UAZU%Vgia 2 2vk UY%ER wht, F PYUVERIUEN «2j1
1) +hv PA§ 2) PA¥ZiVi
Write any two differences between open and globular star clusters. Explain the following
(1) White dwarf (2) Red giant

36. HzIPiei2iAil CAz2Az ava®r® AUUYER ©_ J1. Pi®iiAil “"Ag —"Ag Jvgzegi@ vi¥a£l Ulgiwt
Draw the neat labelled diagram of blast furnace and mark temperature range at different heights inside
the furnace .

Fiedi A

8Ok DAIMAIL ¥aiJYi
For Each multiple choice question four alternatives are given. Out of these alternatives choose the
correct answer and write the answer in the space provided 1x5=5

1) F .2l D3av oid, P GzAPguAiilvz
1) . gEAUgA 2) ¥BEAJAIIA 3) IPAT 4) zh, 24y,
This plant is an example for Angiosperm
a) Spyrogyra b) funaria ¢) cycas d) hibiscus.

2) F PYUVERUY° vivid ¥J1wAil CA2ERET EzAVZ
1) EEi A°Ei 2) XighAQEi  3) Cr&°£i 4) " yAEUAIL CARERSET
Emergency harmone among the following is
a) Insulin  b) Thyroxin c) adrenaline d) Growth hormone.

3) '¥ghawdv ¥aedaei'Ail oRg 24! Ailk EzAVgivz
1) YadmiU vP ¥&EAZE 2) ¥&EAZEU VP ¥adtal-eALAEL "2 CEAvg
3) ¥&EAzE 2Ez®L eAfl 2z £Avg ¥admel 4) eAfAEL 2 AEz@EI ¥&EAZE 2ivi ¥adadl CEAvg
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This is the scope of reflex action
a) stimulus to the response b) response to the stimulus before getting experience
c) Stimulus first; response after getting experience d) experience first, Stimulus and response afterwords

4 ©OZil.«Aili gmEsdig, i DVgivz KPAzg
1) ©ZiL.«Ail® j2,id mABO¥ET £qAillvz 2) ©ZiL.«Ail° mABDEEET £qAilivz
3) ©OZilL.«Aik® j2,id mABD¥ET £gAIMRIC® 4) ©ZiL.«Ail° mABD¥EET £gAINRICE
HIV is a retrovirus because
a) It undergoes reverse transcription b) It undergoes transcription
3) It doesn't undergo reverse transcription. d) It doesn't undergo transcription

5. C¥gACAIAEN ¥v ©Zia° el«PvAvesl£z F « AU aRg2AV | CAAiP2AUS®ZA
1) vievAvesiE  2) CAUAA+ P 3) “"g%zZh VAVesA\E  4)  vzER
The aspect of biotechnology which helps in the detection of culprits in the forensic science

a) Genetic Engineering b) Tissue culture ¢) Finger print technology d) Cloning

6. CEACL 8g—ij 1x4=4
A B
1. 2zdE CAUAAZ ofgh 2ivi DPAg _AUse i CAUAA+
Meristamatic tissue water and food storage tissue
2. PE®A gPP CAUAA+
Xylem Protective tissue
3. ¥Chikaii DzAg CAUAA+
phloem Supportive tissue
4. ¥hgAPIRiA “"y,2€UPAgP
Parenchyma Growth tissue

ohgEll »Agha CAUAA+
Water absorbing tissue
DPAg2EM AV, A2 CAUAA+
Food conducting tissue
oAgfll AV k2 CAUAA+
Water conducting tissue

F PUVE ¥aUhU MAZA @2APiz° Gvjt

7. 2AEREL Pxigip KP ? 1x4=4
Man is a Chordate why ?

8. AAEAE £0giQ« 2hvi CEgQ«Uy° 2MAiM«E Mvg KP ¥g g . 2iA2ivg APk ?
Why should be the air pressure in middle and outer ear equal in man ?

9. P® "gPUEY%UAZ DPAg ¥zAxdU%Az GAmAURR Jggh PA-A UY%EL ©_ §2.
Name any two diseases caused due to the consumption of adultrated food.
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10.

el«P VAveslEz 2ASAIAEL 8g. 2x6=12
Define biotechnology

F PUVE ¥a) U Gvj?,

11. _.ighdiz® D3v ©Ad _ IU%EN Cw ©Zh «PA_2E£l ©EACZ _ _IU%AZA KP PgAii Avz ?
Angiosperms are considered as the most evolved plants in the plant kingdom why ?

12. PE®A 2ivi ¥CAAiRiUY gl °VIAET OWAIMP FARPAA+UYEN ©_j A
Name components of xylem & phloem which have lignified wall.

13. DTOTIRT LRI 3T D) DBIND ézs@ddoé NSEIS V] m@@ﬁoé%oﬁw Ien ézsgrb:icﬁ 9
How does the intelligence of man increase as thickness & convolutions of cerebral  cortex increase ?

14. KqiU viviz 2QU £E2/EAAIL 8AZAU Czi KP Ult2iUidle® ?

Why pneumonia is not cured in an individual suffering from AIDS ?

15. DPAgz PR "gP JAzgAEA ? DPAgz P® "gPAIAEN vqAil®L PAdg2l PIPEAQ Jgqh PEHUYA AiiAaial 2
What is food Adulteration ? Write any two precautions taken by the government to control food
adulteration.

16. EAUA®Zz ZPa¥j¥(Ctd ZPax ®k PAgtA Evaiz 2igizQsRgtz CAVUYA Aiilaial ?

What are the different stages of recycling which are responsible to consider carbon cycle as perfect
cycle ?

F PUVERUYER Gvj1 3x2=16

17. A& vqz avaEll Ort AUULEN ©_j A
Draw a neat diagram of mustard plant and label the parts.

18. F PUVERIUVENL ¥J¥Ctd 2ivh C¥j¥Ctd Fiagh AAiloP ZPEXEAV 2VASPjL, CRIUYEYVE MAZA
YaiR avA, 2£0 8g.

1) EAUARZz ZPae 2)  Agd£Pz ZPee 3) gAdPz ZP= 4) UAzPz ZPaz
Classify the following into perfect & imperfect biogeochemical cycle and write one main difference
between them.
a) Carbon cycle b) Nitrogen cycle c¢) Phosphorous cycle c) Sulphur cycle
19. 2jAF2E ajzinE olibizz avaEll Ort AUUYER ©_j2

Draw a neat diagram of L.S of human brain and label the parts. 4x1=4

*khkkkkhkkkkik
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Model question paper - 111
PART - |

PHYSICS & CHEMISTRY
TEvAL ARIVAGA ANTKEAL A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the
correct answer and write the answer in the space provided 1x10=10

F PUVE ¥alUAz _jAiiAz GvgUY%eEl Djt 8g-ij.

D

2)

3)

4)

5)

6)

Ccay £Ugz Jggh UUE ZIAO© PIqU% £gi PAS T mi& A, "APAVz. D PIQUY% £qi«E zAg2EN
oRg2AV CYAil®L CE-A, "APAZ wv

1) gArAiZA bAAIAOASE 2) A gi gMAFAUI VAVES\E

3) zhw«zhvi ¥juhai 4)  gh¥gi ¥juhRi

Two multistoried buildings in twin cities are to be connected with a cable trolley. Principle applied to
measure the accurrate distance between them is

(1) Radiography (2) LASER Ranging (3) Photoelectric effect (4) Doppler Effect

CHOZTBRINT TWHONYS DRR[T, TY BPIFNT. 83 FAOLF T, WITWTHIT LIBY08e0H STON
1) ghrAiEA  2) C2PA¥l  3) Cw £ig¥s  4) JPi-Qgt
We have to detect a flaw in a machine. The electromagnetic radiation used for this Technology is

(1) Radiowave (2)Infrared ray (3) Ultraviolet ray (4) X-ray

AiliP ¥&Atz° EAzZE 2lvi UMAIMEN «i+xa@ilgia JAFEIE ~"AU

1) Y. £ 2) PATEASGANgI  3) 1°Aqgi  4) “AAilgi

Part of the petrol engine where the air and petrol are mixed in proper proportion is
(1) Piston (2) Carburetor (3) Cylinder (4) Boiler

NWF H08T IY 33 pn ARHTT Sedeod BOBOW PRRBWOIWN TOTEFAORBOY
1) PAERSgANgI 2) AMzBe  3) @PaAq  4) ghrAildlgi

In a heat engine without this part it is not possible to convert linear motion into rotation
1) Carburetor 2) Condenser 3) Crankshaft 4) Radiator

alzigh gEAVAIL U 8PEAZ £ UqAil OAS2EN ¥gAil®L 8Y_ AizA

1) £Agviwiv «Qgt 2) JPi-Qgt  3) UARiA-Qgt 4) +&uhwiv vgAU
Doctors use this to get the image of fibroids of uterus

(1) X-ray (2) Gammaray (3) Ultravioletray (4) Ultrasonic wave

F PLUVEAIUYS AiiAdlzA E®CZIg “HFP QaiAPAJAIM vPE ¥g2iAth ~"AAOEAV _£n vz
1) cAilAvae | g¥i 2) 3jAzP 3) gPA P2z 4) vA¥PAj
If this part is not present in the nuclear reactor then it might function like a nuclear Bomb
(1) Controlrods (2) Moderator (3) Concrete shield (4) coolant
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7) 2iAiliRiA°EREN vgAilld Gzt @EACgiaagh CqiUU 8% A2 EAzE
1) 1h2i Ju  2) PnU 3) z& ¥mEBBAIIRII Co® 4) ‘gt
To prevent the air pollution, one can use this fuel
(1) Kerosene (2) Wood (3) Liquid petroleumgas (4) Dung cake

8) wBnedecadier mum, Boleen TECHY WTCIRNTLY  FVTTIE VTT LIFTD
1) sem@ocs, AW 2) Ozigy  3) ¥igz+dPv  4) GZ 2QEgt  EZAAP
Which property of the borosilicate glass is the reason for using it in laboratory?
(1) Withstands high temperature fluctuation (2) Brittleness (3) Transparency (4)High refractive index

9) 2iAdoPz CE¥AQAv Uit
1) efa 2y°jpil@ivgialzi 2) D«MAik @iAz@liz° | Z UKy kalzk
3) Ug.h ohjE£ | ZUEY, kalz) 4)  ef22y°jpilaivecgiaizi
One cannot encourage the use of detergent because of this property
(1) Biodegradability (2) Cleaning in acidic medium (3) Cleans in hard water (4) Non Biodegradability

10) M& «zAydU VAVE Ju, ,EArAilii ©ighedqi, , AArAildii PEAgiqi ERIULEN ohq AVz. E@U%AZ
C2£h VAiiAj, §9izAzzN

1) rledAmi 2) . EArAilaii ThAikgAmi

3) ¥CAmAAiARTT ¥A«hmAmi 4)  EArAilRii PA EASEAMI

Coconut oil, Sodium hydroxide and Sodium Chloride are given to the student, Using these he can
prepare

(1) Detergent (2) Sodium stearate (3) Potasium Palmitate (4) Sodium carbonate

ongia eAU2£El viAO]
11) gAdPz ¥gRiAtiU%EN 1°PAET ©g%U “"gP 2iArzAU DUI® Cg2i°Pz «z ---- 1x3=3
The type of semiconductor obtained when silicon is doped with phosphorous is

12) _KEAEAginAz ©&gl +&ulwiv vgAU _2lizae vY2EL vRAY, Ye¥®EUEAQh UARPREN 3 PAQAUY®
Ajzg, 2z DY ------
Ultrasonic waves are emitted from the SONAR. These waves are reflected by the ocean bottom and
reach the detector in 3sec, The depth of the ocean is

13) _Eg M Ail MU ©Zk +AR | AUSRAUIRAV 2iigia “"AU
The part which helps to store large amount of heat energy inside the solar cooker is

14) ©EAC1 §g 1x4=4
A B
1. CH, £E,\(6P Co®z 2MR: WIP/Main component of natural gas
2. C,H, D kEi/Alkyne
3. CH, LAEAEAIMP ©tgAERASOEI/Aromatic hydrocarbon
4. CH, L. AA ©PAEi/Iso hexane

PA""/EAD _FQPT ©iq/EARASDEI/Carbocyclic hydrocarbon
z& ¥mEBBAilRiT Co®z 2MRi WIP/Main component of L.P.G
Cx1°£i/Acetylene

70 SCIENCE MODEL 111



«eAERAZA 111

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

F PYUVE ¥aiUhU MAZA ¥z Cx2A MAzA 2APiz° Gvg 8g-ij
Answer the following in One sentence

_An¥giei JAzgAEL ? 1x6=6
What is centrifuge?

JPTT 2AgEl wolal ¥xz© z° _i@AU PAAzae PqU KP “TAUAVAE ?
Why does a cyclist lean towards the centre of the curve while moving in a curved path?

.Eg @Aviagtz Jgqh “TAUUYA AiiAaial 2
Which are the two regions of solar atmosphere?

20 Fpeer, QNI THEONLD APTTHEONP2WTBT F0.Q0eT DI, ADTD"T FTIRCINYDY, wpeRT 3w 7
How many silicon solar cells of 2 sg.cm. area are to be connected in a solar panel to produce 20v?

M& 20 2&mAgi tPif SYPAIAEN u°1 [PREN 8Y AVAE .F PB2EN Evggh CEA, j1zAU AiiA2 «zz
+0Aik 2ME®@z 2IA°£ Mvqg PrajAiiiUivz ?
A person starts to use bicycle instead of a motor cycle.lIf others also follow this method then pressure on
which source of energy can be minimized ?

“hilgilye  waAV Uq A ohgEll 8Y% kalzjAz AT« 89kzAz C¥AAIL AiiARizA?
What are the possible harms occurring with the continuous use of hard water in boilers?

1) _AgiuU ©EACPEAQ PhAv, _ights _Avia @iUze ©AUE CzA ¢QE° _iviwghaAU ¥y «zhvi
ZA®P &8 GAmAUCgialzP PAgt PAQA. 2x9=18

2) ¥hpv «zhvABP 8§z 2l Y@@ Olgia CA+UvA Aiikaia) 2

1) A magnet and a coil are moving in the same direction and with same speed e.m.f is not induced
in the coil ? Give reason.

2) What are the factors influencing induced e.m.f?

r1 gif2fiz ave®rt. AUUYER ©_j2
Draw a neat labeled diagram of DC Motor.

aizohAik Pivae £igviwiv «Qgtz Jggi G¥AIEAUYEN §g—ij.
Write any two uses of Ultraviolet ray in the field of medical.

mieg gif Jggh «zUY% 2IAQ® , APAVUY, ava®rij
Give the circuit symbols of two types of transistor.

¥mAkei JAFEIE “IQ @Equz ava®rij
Draw a sketch of intake stroke of a petrol engine
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26) 0w 3nR. 1) YRS 308NY F03WOIR FFReRTFIY, WIRTYT. 2) $30 SoIROWION WIF, o
JAj L ivAg.

Give reason for each of the following (1)Nichrome is used to make heating coils (2) Copper is mixed
with gold while making ornaments

27)

NP 1°PALIEEN ©AU ¥gAik AUlvz ?_ «MPgtzAACU «2j A
How is crystalline silicon obtained? Explain with the equation

28) UAFE Co®E JAzgiEl ? EzjAz DUid CEIPE®V KEI ?

What is annealing? What is its use?

29) chj£ AgPuAil £ARL PRUYEN 8g.
Write four methods of conserving water.

30)

31)

32)

33)

«+24i! Ulglv oAil2ia£l ogkEla, 3x4=12
Ulgiv cAil@i¢Az 20¥dP2AV «2f ®1 £A®L CAXUYL AiiAal?

State the universal law of gravitation.

Mention four points successfully explained by it.

gEA»v z+dPz° SEUY CECRA¥EAIAEN ©AU Pra} Aiiilivz ?

TYQE 2td« "dEU PAgERALL ?

Boeeass wEOD zsgeﬁ D) WAV F DETRPOT TBRTOINT TRek3T NFN 0w ?

How can overlapping of colours in spectroscope be minimized?

What is the reason for dispersion ?

Mention the type of spectrum obtained by candle flame and light emitted from gases or vapours.

F PUVE Az "8U%° G¥AIEAV ®qgia L EAmARYIUYEN © j1

D)
2)
3)

¥YAIMYP +A_ doU zEgv qiEAA Ag,TE ¥YAIMBPAIL 2L £1 whHAIGH
RTEO IoiwoBAE BROCDH BOFOZBI), $L0HLD
PH «ehaU ghV ~%U AiiA2 jAwAiA ¥A_Amif CUviczAilzi PAQAPEY®A

Write the name of the isotopes used in the following cases

1)

To find the age of fossil of Dynosaraus
To study the action of medicines
To determine the kind of phosphate required for Ragi crop.

LO¥% «ZYE QadlAIL ave®r EEMAGE 2ivi «zVE 2MglPAUY%ER Ulgiwt.,
2000 VW DTYTOOT 2 SRLHIND ARWNRBRTY 3Ze BOIT ATYITY DT, SRLBIAWD
©qiUgAiiAUlva?

Sketch the diagram of nuclear fission reaction and label neutron and fission fragments

a)

Calculate the number of neutrons liberated in the third stage of nuclear fission reaction liberating
two neutrons when a nucleus gets fissioned
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34) 1) Ay G¥U 1g2iv UEAZj . ®L PAQERALEL ? 4x3=12
2) TELg GYURUY _A¥Pdel®UvAZ dUvi QjzAVZz . 2ixdE ohr.
3) PPA @iU ajvi «2EAZE 2iUUY% £qi«E _A8AZ 8g-ij.
1) Why does geostationary satellite appear to be stationary?
2) "Communication network of geostationary satellite made this world tiny". Justify this statement.

3) Write the relation between Orbital and escape Velocity

35) vidiae HACAPgEP G¥AIEAV 2 «zlivi « "df PEA+z ava®rt, ~AUUYEN ©_j2.
Draw the sketch of electrolytic cell for purification of copper and label the parts

36) 1) «oESe 2oInPI IFZR) TS WOSTIT IFIHOT O, Ted), TR TFITWHTWONG ?
2) E£PvB: «OFf) UEAZg ¥Bé+P PAgE2AEL ?
3) £APwBe«PA_ z° PPEEI ©Av &jvi 1glw ©Av ©AU GAmiUivz.
1) How many times a star of magnitude 2 is brighter than a star of magnitude 4
2) Why do the stars differ in their apparent brightness?
3) Explain how the cocoon and steady stage of a star occur.

Fiedi A

For Each multiple choice question four alternatives are given. Out of these alternatives choose the correct
answer and write the answer in the space provided 1x5=5

1) F PUWE _ IU%° OleAtid£P 2ivi °AUAEA dEPUY%gQh  vAvalvgia | |
1) DRvOAd |, iU%A 2) ¥zl Uvh  3) CEARv OAd,  iUvA  4) SaeEAmIUYA
Which among the following plants have independent Sporophyte and gametophyte.
A) Angiosperms B) Pterydophytes C) Gymnosperms D) Bryophytes

2) J2.i6 mABIQ¥ET JAS QasiAiM EzAVgivz

1) r.JEiJ —iAz Dgi.JEIJ VAiidj 2) Dgi.J£i.d —lAz ¥CedE£if VAiiAj
3) Dgi.J£id —Mz r.J£EiJ Ail VAiiAj 4) r.J£iJ CtilY% ¢¥ePgt

This is the reverse transcription process

A) Synthesis of RNA by DNA B) Synthesis of protein by RNA

C) Synthesis of DNA by RNA D) replication of DNA molecules

3) @ALRE 2izWi8%h—MZ K¥dqgia ¥ghawdvzA¥z 241U §gia WIPUYS E&l PEQ _Aj2
1) eAf2i» £gUYi 2) Qagiiah» £gUY
3) eAf2i» £g2UE® Rilvee 4) eAf2h» 2ivi Qadilai» £g2MERUKAZ _AAIEAFVRAZ «l+BrUYil
Reflex arc produced by spinal chord of man also includes these components
A) sensory nerves B) motor nerves
C) onlythe sensory roots D) mixed nerves produced by the combination of sensory and motor roots

4)  ¥MEgi AAIEAFV r.J£i.J vAves\£2l Ezg EE£EIAZA ©_ gAvz
1) vivAveslE  2) ef«P VAvesiE 3) CAUAA+ Pl 4) “"g%ZA VAVes\E
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Another name for recombinant "DNA Technology" is
A) Genetic engineering B) Biotechnology C) Tissue culture D) DNAfingerprint technology

5) .20 eAfAACARIUY: eAE2ACP £gUY% DC 2ivi CAVIUYA »AVgiva
) o0 - IS OFF WYTEES; ©0Z, — IDFF WPFoQOH
2) ©0 - JQFF pFeoton; BOF — DWII IDFF WITLCE,
3) ©0 - DWWII IDFF WFLE; WOF, — IJowoh JINFH WFoOQOD
4) =0 - e38T; @0323 - dOFR mﬁﬁeo@oﬁa
Origin and end of sensory nerves of all sensory organs are as follows.
A) origin - specific sensory area of brain; end - specific sense organs
B) origin - specific sense organs; end - specific sensory area of brain
C) origin - specific sensory area of brain; end - specific related sense organ
D) origin - Medulla oblongata; end - specific sense organs

6) ©EACT §g 1x4=4
A B
1. KjJAiEA Agi CAUAAL/Aerolar tissue CE£faP , AAIMUYY involuntary muscles
2. ¥m _»v _AAiMUY/striped muscles PP FAAPEA+UYEN ©£ACz/intercellular space
3. ¥Ami mi/platelets LaP _AAiliUYA/voluntary muscles
4. DPAEi/Axon gP ©¥iUA«PU _2AAiiP/clotting of blood

“EdA CAUAA+/Adipose tissue
AAiA° £l ©£¢z/Myelin sheath
gAq#eni/Dendrite

7) AiilizAzgk Jggh xA®_TAIMP | U%ER ©_§1 1x4=4
Name any two plants which are having thallus.

8) zhwgA AAikoP _AUI 2ivi DRi2U%A KP 2UEIPIOP +A¥ Jo1a 2
"Photochemical smog and acid rain are curse to man kind" why?

9) “"gWzZh vAves\Ez Aiil2lzAzgk MAZA CEAINREN §g.
Write any one of the application of DNA finger print technology.

10) Vi¥zEACU _ARAERAV «ix8EAgia PR "gP ¥zAxdAl AiildizAvz ?
Which substance is mixed as a adultrant in ghee?

11) xighQEi 2hvi Cr&e iCAREASEIUY: MAZEAZA PAAIADREN §g—ij 2x6=12
Write one function of hormone Thyroxin and Adrenaline

12) 2iAL2E PLECQGI® ©YU¢ ¥a+ 2ivi CAz¥aE+UnVgia Jggh ¥&IR 2V U%EN 8§g
Write any two differences between yellow spot and blind spot of human eye.

13) 2iA£2£ Dgkiliz 2 YaPE® ¥JulriUY%EN GALRIAgR ««z 2IACEULEN ©_j A
Name the different types of pollutions that effect human health.
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14) JZilL.« &ivh ©Zi0.«U%Vgha AiilRizAzgk Jggh ¥a&HIR VA UZER ¥n2idr
List out any two main differences between HIV and HBV

15) F PYUVERULEN g% +Atv CAUAA+UYA 2ivi  AQAES +i+v CAUAAUVEAN 2VOPj1j. ¥AgAPIaiA,
Pi®A, ¥CAAikRii, PAA APEiA
Classify the following into Simple permanent tissues and Complex permanent tissues.(a)Parenchyma
(b)Xylem (c)Phloem (d)Collenchyma

16) F PYVERUYLER 2iEgh 2ivi £AGL PAAUUYAY: CizAIKREN CEACZ ¥ARUVEAN 2VASPJL ]
1) P¥  2) ¥Aj2iy 3) .¥d 4) Ajpg2
Classify the following vertebrates into three chambered and four chambered heart bearing animals
(@) Frog (b) Pigeon (c) Cobra (d) Man

17) A& Egh AAikoP ZPBYEL ¥j¥CED 2ivh C¥J¥CEd ZPEAV aVASPJ Aa° AU 2UE®, «o@fAil
ajf® 1jirgt 2ivi 2igizQkegtUyi AU DzAgP CAUvAV2 ? 3x2=6
How are Reservoir pool, Exchange pool, fixation and recycling Considered as the basic factors in the
classification of biogeochemical Cycles into perfect and imperfect cycle?

18) «Mof "A°i gZEAIREN VEAJ A2 avaEl §gzh TAUUYER ©_j1j
Draw a neat diagram of external features of a fish and label the parts.

19) 2izii8%AIA Cqblz ££A1Zz ava@gzh "AUULEN ©_j i 4x1=4
Draw a neat diagram of cross section of spinal chord and label the parts.

*khkkkkhkkkhkkikkkikik
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(AN <eAE/RAZ YARHABE- |
Model question paper - |

SOCIAL SCIENCE

Four alternative are given for each of the following question/incomplete statements. Choose the most
appropriate alternative and write it in the space provided below each question

F PUVE ¥alihl Cx@A C¥ELD ChuPUKU £AGH ¥AiiAdAIL GvgUYER Ea, AVvz. CalUy° ©zi
JEP2Az Gvg@£ll Djt PANgi® eAUz°Aill ¥Atd Gvg2£l 8g-ij. 15%1=15

Which one among the following is the characteristic of Ryotwary System?

a) The land revenue was fixed on the basis of fertility of land and irrigation facilities
b) The land revenue was fixed on the basis of production of land

c) This system was introduced in north_western and central India

d) The former revenue collectors were recognized as permanent owners of the land

F PUVERIUYS givahj ¥zwAil ®PtUvAaal?

J. PAzZAAIRREL " E«lAil ¥@2vv 2lvi cigha] E® iz DzAgz @M aU¢ AUk,
©. EPAZAAIRREN GvAzE£AIL Dzigz @2 oUC ¥r_iwzgi.

1. F ¥zwAilEl ¥22) ajvi aizi"Agvz° eAju vAzgh

r. »Az PAZAAIA 2_E° 2iAgiwz@gEl T ASAAIA MgAilgEAV 2iArzgi

The Government of India Act 1919Ad is an important step in shaping the present parliament because;
a) responsible government was started

b) local self governments were started

c) bicameral legislature at the center was created

d) The subjects of administrative department were divided into three list

1919 g “"Agv _gPAgz +A_£ EACE _A_VvEl gk} ia° g§olajiR@Avz KPAzg;

J. d2iAjAillv _gPAg2EN DgA©,  A-ivi

©. WAk _gPAgREN DgA©,  A-ivi.

1, PMza&® Jggh ,z£UY% A £ 77 gatvi

r. SE93 Qwolbody @a’oﬁamﬁm& WRTY TENFON DONBIHTVOWD.

Venkatappa Nayaka of Surpur has secured an unique place in the first war of Indian Independence,
because he,

a) shot himself refusing to accept British dominance

b) refused to pay the English the subsidy

c) upset by the doctrine of lapse

d) made the Zamindars to revolt aganist the British

_Ag¥igz 2API¥ E£AAIIPEL ¥ael AvAvie AUAiz° MAzA CER¥ajaiz A£ Uh1lzAg. KPAzg C2gh
J. QX0 MOCRINO0NT, LBLO JTIFOY TN BRRTI o

©. sTFIINIT, WesmOR IeEIY 1. zvP EvéAz A _wzEA

r. QEES QOF RCTYTZW, WOBEH[OZ BRRTI
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4. Junagad state refused to join Indian Union as
a) The Nawab of Junagad wished to create new country
b) the majority of the people in junagad wanted to join Pakistan
c) Pakistan occupied junagad State
d) The Nawab of Junagad wanted to join Pakistan
difAUg _A_A£2l “"Agvz MPEIP _Ag®i aghPjivi. KPAZg:
J. £2A8FL ©F, ghdi _A!, ®L AiEkatzEl
©. 8°k ASA diflUqz ¥edvh ¥AQ A£P _Ag®A Ealtzgi
1, ¥AQ, A£3] dIEAUgRER DPedtvi
r. £2ASEL ¥AQ_AEP _Agi® EAVV 2P¥riz£i,

5. As aresult of Meiji restoration
a) Commodore Perry secured the right of trading with japan
b) many European countries entered Japan for trade
c) Japan developed as a rich industrial country
d) Japan followed a policy of isolation
AjAF ¥iEgAURIEZ ¥julaialy
J. PE2EQEAGT ¥j d¥AET £EACU 2A¥Ag 2iAgia ©PEL ¥qz£l
©. TomOW 0NTReLT Uae&ﬂ% DOITPTTN  BTT TReSATY)
1 205 WO &3 3 0% m%mf\ @22)56% TROOD
r. d¥AEi MAZI ¥edPvA ofwAil£l CEL JJTVA

6  The event which was responsible for the end of the second world War was
a) the USA dropped atom bombs on Hiroshima and Nagasaki
b) Hitler commited suicide in Germany
c) United Nations Organisation was estabilished
d) Italy was defeated in Africa
Jgq£h 2icpAiliz c®®) PAgt2Az WIE
caiijral »gEA2a ajvi £AU_AQ £UgU% @A CEAAAT zA 2iArvi
» 1 gEA DvPVi 2iArPEAQEM
«x AN A¥EAIA-AVA
Em°Aill D1Béz° _EA°_@®nvi

S POG

7 The main objective of operation Black Board Scheme is
a) Universalization of primary Education
b) stressing adult education and female education
c) Providing sufficient teacher and infrastructure to schools
d) providing education to women and backward classes
P¥i ©®U AiZADEAIL 2URI GzA+2iEAZg
J. ¥hs<iP 2Ptz _i2dwiRgt
©. 2Ail_lg 2ivik 2i»YA 2PEP MVl
1, AR AEv EPAILD 2hvi 2PPgEN +ATUK%U MzV  kalzi.
r. ai»YyA alvi »AzMz 2UsU%U 2Pt MzV ialzi.
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10

11

The idea of gender equality come into force when

a) poverty is eradicated

b) dowry is eradicated

c) equal importance is given for men women in public employment
d) The economic inequality is sloved

R ¢ TOIVRD FIPIT D0 TZ, 23001t 2TLIeTTIT

J. 8qvE£ c2UESRE DU APA

©. 2gzQu ¥zw o2ES®E DU "APA

a1

r

GRe

pfefple) emcixaeﬁcﬁ@ &0 TNRON FRWD P@TOD QTR
DydP C, a|A£v OaAgu DU "APA

Developing countries are struggling to achieve economic self-sufficiency because,

a) They want compete all developed countries

b) There is no value for political independence unless to achieve economic development
c) They want restructure their economic and political inequality

d). They want to solve the problem of economic inequality

I ESERS) Uaaémfo BHFT TBOOWT FPBL BHCTIWII. DFOTT :

J. @@m}o DY VYT, ﬁraoacj angmiraceé ATV wofnm:écﬂ’

©. DyoP . Aa®A§£ °/EA¢ZAU alAvagAdQAAlAz _AvAveR " JAzA £ACP

1 CaAU%A vai DydP 2ivi gAdQAAIA ¥jLWAIAEN ¥A£g| ga,®k 8Ail_ ivz.

r. CalUvi DydP C_ 2AEVAIL | 2i_ AIREN ©EAU Ar ®h 8Aik_ivz.

Rainfall occurs at few places in India during summar due to

a) high temperature and hot dry winds

b) local heating and convection currents

c) relief features and monsoon winds

d) decrease in temperature and increase in pressure

“"Agvz P@A| ¥a#+UYv° AU PARZ® @Y, OMvz. KPAZg

J. ©8 éas% YVITPOT W) W MY

©. x@eo:o PTPOT ) TPROT TFOTNH

1 é‘bé‘bcﬁ fmeﬁ @69@ aiaéa TRBRT [PWDIAL R, TR GOTW TROT B 63233 033

Tropical evergreen forests are found where there is

a) high temperature ,high humidity and low rainfall

b) low temperature ,high humidity, low rainfall

c) high temperature ,high humidity, heavy rainfall

d) low temperature, low humidity, low rainfall

YO TOORT I, BOTLOFT TN DY FOBWWRTOTT
WHT YOTPO3, VHT 30008 DB TR T DR
TR NTPOT YT 30008 DB BRI WY W
6323% YOTROT, é&%% 30008 DB VHT T VDD
BRI mmmoé, TR 3003 D) BRTW DY RERF)T.

S POG
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12. The objective of baramar energy station is
a) producing large quantities of solar energy
b) conducting research in the production of tidal energy
c) carrying out special research in wind energy
d) producting large quantities of geo _thermal energy
hghaigi +Q A2gz Gzli+
J. CCP ¥&iitz° _Eg «zAVElL GvAc iaizi
©. G8g«hv «zhvi +QAIk GVAZEAIL® _A+EAzE 2ikgiaizi
1T TRT 330D Wi D3R FOZRGTS SRBWRYTH
r. CCP ¥&iitz® ~"E+AR QAILEN GvAc ialzi ...

13. Railway wheel and exel plant was estabilished at
a) yelhanka b) chithradurga c) perambur d) Kochi
OiRIUA° @kvii CZAUY: VAIiAJPA PASAGE _Al1gia W
J. Ail®PAP ©. avgAd£i 1. ¥gA8Kgi r. PEa

14. Indian Grain storage centre is in
a) Hapur Db) Bhopal c¢) Mysore d) Suratgarh
“AgwhAil ZAE AUt PiAzemi® Y
J. Oh¥Egi ©. 2 _Fgh 1. E¥A T r. EgQViwgi ...

15. The aim of national small industries corporation is
a) providing training for workers
b) designing the industrial machines
c) providing guidance to small producers
d) helping to market products produced in small scale industries
gAfTAAIL | PIUAJPA Uiz Ukj JAzg
J. PA«AdPJU vg Aw ohgi@izA
©. PIUAJPA AIBAVERLER «EA UEY:, kalzh
1.t GvAzPjU 2iiUdz+d£ oigiaizi
r. .t PUAJPUY GVEILY: 2iAghIP £g2l oigi@izi

I1. Fill in the blanks with suitable words
ongia YVUYEN _EPRAz ¥zU%AZ ~"wd RiAr

16. The English commanders who defeated Bussy at wandiwash was.............
OO, WIORTOTIY AReDIT YONCHT FemTod

17. Ancient Mesopotamia is modern......................
¥igAVE 2l ¥mAA«<iAiL EZ| ¥a+ EACE

18. National adult education programme was introduced in the year ......
TOQEOD [ONHT 380 0IRERTON FTOONFTT 2ION 20T B[RF

5*1=5
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19.

20.

22,

23.

24,

25.

26.

The highest temperature in India is recorded at ..........
$OTBTY ©e ﬁzé% YOTPOT  TIODONTVT 5@@

The most ancient export of India is ............

"Agvz Cw 2Rz ¥iaE g¥i DVz.

21. Match the following list ‘A" with suitable given in the listb 'B' 5*%1=5

J ¥nAii°gia CAxU%U © ¥nAil°gia _jAiilz Gvg2£ll D1 8g—ij.

A B

a) DR Rajendra prasad i)  Universalisation of education
gA| ghelAza¥egdzi 2Ptz _(2dwiegt

b) Jawahar Lal Nehru i) The first trade union
daeigi A £9gi ¥ PA«ioPg (AW

c) N.M. Lokhande iii)  Chairman of drafting committee
JE£i J&ii T EARAQ Pgqgh . «iwAik CzP

d) Vittal Ramaji Shinde iv) leader of interim government
«0 i ghRiif 2Az ajzaila¢ PAdgz EAAIIP

e) Jyothirao Phule v)  Father of renaissance
efElw ghai ¥i— ¥ifgifiaz tviajo

vi)  Depressed classes mission
zA88® 2UBUY: AW

vii) President of constituent assembly
. A«zAE gZEAiIk CzP

viii) Home rule league movement
OFARii gk i ZYdAy,

Answer the follwing question in a word or a sentence each
F PUVE ¥aiUhU MAZA ¥z Cx2A 2ipiz° Gvjt

What is Khalsa?
Sk® JAzghei?

What was the effect of cultural revolution in china?
alfAze _AA_WP PARVAIR ¥juARAUYAER?

Why did America enter the second world war?
Caiijpal Jgqfed 2ichailiza£l KP ¥ad21vi?

What is the greatest achievement of the World Health Organization?
«* DgEAU A AIL 2CA AzE£ KEL?

What was the aim of the ASEAN?
@736033 DXOIT TOFNY WBRWT OO DT

9*1=9

80

SOCIAL SCIENCE MODEL I



JANd «eAfA

27. How did the USA come to know India’s position regarding nuclear power?
C2iAJPP "Agvz Cti+QAil SUVE o@®idl Cjaivzi eiu?

28. Why are the mangrove forests called sunderbans in the ganges delta?
AjAAUERRT CgtilU%ER UAUAECAIR " E«lAile AAzg8E JAzA KP PgAilivig?

29. What is transport?
JAJU JAZgAER?..

30. What is Green Revolution?
o1gi Pise JAZgAEA?

V. Answer the following question in two sentences each 16*2=32
F PYUVE ¥ahU Jggh 24PU%° Gyjt

31. What were the terms of treaty of Madras?
ajzgh i M¥Azz +gVAUVAER?..

32. Mention the result of the first Anglo Maratha war?
afz® DAUEA-2igho Ailiziz ¥°VAALUYVAEL?

33. What are the advices of Charles wood seen in the present system of education?
EACE 2Pt 22 Ail° PAQh 8gia ZATi@lgif | ®@PUYAEL?

34. How was Quit India movement of Isure different from the movement of other places?
F.EJ£° £qz Qmi EArAiiA zviay, Evg ¥+ ZVianVAv Ol «OflR2AVzZ?

35. Why did Sardar Patel decide to launch "police action' on Hyderabad?
.gzZAgi ¥mi®gh ©izgh ACE @M ¥/ERS T PAAIIADZQUAIAEN PIUAY®L PAGEUYAEL?:..

36. Give any two reasons for the failure of league of nations
oo ROTT DPOIN 03TDTYTOTTR T FOTNTI, 93

37. What are the aims of the Non - Aligned Movement?
D°¥ ZyhaypAik GzAtUYVAEL?

38. Which are the illeagal methods used for profiteering?
TAPEAQVEP CEL_J i@ CEwP 2iAUSUYVAEA?

39. What is the role of the international court of justice in the U.N.O?
«x _A_Aik° CAvg gATAAIA £AAITARAILZ ¥&HIR YAVEAEL?

40. How are the hauman rights protected under the indian constitution?
“Agvz | A«zAEz° 2iAER OPIUYER AU gQ, AVz?
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41.

42.

43.

44,

45.

46.

VI

47.

48.

49.

50.

51.

52.

VII

53.

Differentiate between the western ghats and the eastern ghats.
y2aj Wl ajvi ¥£28 WIUBVgia 2vii, ULAER?

How is coal formed?
P°Zz®l ©AU gZEUEArz?

Consumption of cement is the index of the country's progress. How?
1ajAmi 8Y%P MAzA zh+z COR¢ UWAIAEN wy dvz 2AU?

Mention any two disadvantage of Air transport
apAilh | AjUAIA AiiAdlzAzgE Jggh CEPERUYVEN wiht

How are small scale industries helpful to rural areas?
“Agvz UlgiAAvg ¥a+U%U |t ¥&Atz PIUAJPUYA AU G¥AilPaAva?

Why did the third five year plan fail to achieve its objectives?
alEgEh ¥AZ2ASP AIEADE VEI GZIA+2EN Fohj i2° «¥@2AU®L PAGTUYVAEA?

Answer the following questions in three to four sentences each
F PYUVE ¥aihU 2Egh-£AR1 2APUY%° Gvjl

Give the reasons for the decline of the Portuguese power in India.
“"Agvze ¥EAZASVA g C2EWU PAQEUYEN PEr

Why did the first war of Indian independence fail?
“Agvz ¥a2h | AvAvag AUABH «¥®UEArvA. KP?

How is India trying to eradicates poverty through intensive rural development programme?
L.Dgi.r.!. AiEADEAIL CrAil® “Agv@l ©AU 8qvE o2MESRE 2iAg@L ¥adiwi Avz.?

How is soil erosion prevented?
ajtg _avagl oiu vqulialzi?

what is agriculture? Mention different types of agriculture followed in India.
Pl JAZQAEA? ““Agvz©® gArAilegi® ««z 22 AAil ¥zZWUYED wht

India is facing adverse balance of payment since 1947. Why?
“Agval 1947jAZ@K ¥aPE® ¥A2w JzAj iwz. KP?

Answer the following questions in eight sentence each
F PYUVE ¥aihU JALA 24PUY° Gyjt

Explain the Quit India Movement,
“"Agv ©OLA VE®V' ZYAWBAIMEN «2j1

6*3=18

3*4=12
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54. How do you prove that India is having good relationship with Russia?
%003 w) deu—aécirao@ﬁ NI FOWOT BROOT O Ter BRRFRND?

55. How is agriculture helpful in Economic development of India?
“Agvz 2@ _AAildl DydP COR¢AIA® CAU | ChAilPaivz?

VII1.56. Draw an out line map of India and locate the following on it
“"Agvz EPAIMEN 8gzh Czg® PYU PANgia _MUY%EN Ulgiwt
a) Tropic of cancer
PPASIP  APAae@iv

b) The western Ghats
¥23ai WUV

c) Mumbai
A"

kkkkkkkkkkkkkkk

3+1=4

SOCIAL SCIENCE MODEL I

83



b?«ﬁ\d «eALAl

Model question paper - Il
SOCIAL SCIENCE

VAR «<eAEAZ ¥ARYABE- 11
F PYVE ¥ailh) Cx@A C¥ELD CAPUKU £AGH ¥AiiAdAIL GvgUYeEl _£a, Avz. CalUy° ©Zi
JEPRAz ¥EEd Gvg2Ell D, GvgP PEngia elUz°Aill §g—ij. 15%1=15
Four alternative answers are given below. Select the right one and fill in the blanks

1. Uagigi dEg i gh kLAl “Agvz° 2£z® AjU giel 2iiUsAEl ©AQrzEl,

Ezg Gzli+

J) 2fi¥Agz CEIPARPAV ©) DydP COAEUAV

1) _AEA ¥qU¥% Z®EUAV r) ©PigPAv
Governor General Dalhousie laid the first railway line because

a) for Trade b) for Economic development
c) defence purpose d) Co-operation

2. 19359 +A_£ “"Agvz _A«zAEz EwPA_z° MAzhk zEq °ehiilvz. JPAzg
J) Ezk ,vAvaE'Agvz ghelAUP DzAg2Avz. ©) Ezi "Agvz EAUP PAgt@Avz.
1) EzA ¥juhA2ipPAj +A PAAUREN galz. r) Ezh “AgvP d@AAj PASgREN ohrz.
The act of 1935 was a great development in the Constitutional of India because of
a. Itis animportant step in shaping of our present constitution
b. It caused the partition of the country
c. It formed an effective legislature
d. It gave responsible government to Indians

3. PEABIPZ® £qz Z A eldi zviawAile F WIE £q¢g°®.
J) of ChU%ER QivialzA ©) ReAELAIEN ®EN 2iAq~ A-ivi
1) UAg ziaruy @i zAk @il Alv r) A A PA AdiUYA 2iazi®,
This incident did not occur in ‘Mysore Chalo’ movement in Karnataka

a. breaking of railway tracks b. the loot of Tresury

c. to attack on Grama Sabha d. School College were closed

4, UERRA «B2EAZEA ZYVdawAil T viaioh
J) ©ZiJ£Ei. PiAdiee ©) PATA gF 1) nOPIAK ) _A«<h g2iAEAZ wixdgh
The father of the Goa Liberation Movement
a. H.N. Kunjuru b. Qasim Razvi. c¢. T.B. Cunha d. Swamy Ramanand Tirth

5. F ohwAill Jgg£A 2ieiAilizP PAgE2AivA.
J) d¥hef « guh Az ©) Tm3 3wy e
1) C2MjPAz DyoP mhAw r) “Agvz C°¥ oAw
The policy responsinble for the second world war was
a. Expansionist policy of Japan b. Neutral policy of Rusia

c. Economic policy of America d. Non Allignment policy of India
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10.

1L.

12.

13.

14.

“igvzegi® Sh_V @®Ailz POt 2ivi GQE PASAGE

¥i1 gh F 2iE@U%U "~ PEQ°®

J) HZAJP 2iE@U%U ©) AiAE«hAil 2iERUKU
1) A, wP RiERU%U r) vAAwee2iERU%U
The Fascists had no respect for values

a. moral b. Human c. Cultural d. Technique

A«zAEz F wzi¥rAill 2Pt2£l 21E@ " £v ©PA JAZLA _Ajz.

J) 42£A ©) 63£A 1) 39£A  r) 93£A

According to this Amendment of the constitution education is made a fundamental right
a. 42nd b. 63rd c. 39th d. 93rd

'PAY ¥EA A 2£] DgA©1ZA Ez£M vqUI®I

®) FgMMWEIT W) WEII  R) PIRT Q) TR0
The government has introduced COFEPOSE to prevent

a. Smuggling b.Poverty c. Coruption  d. regionalism

OSOWTIC WINPT KHeTTIE QTR Uaa‘%mﬂ [ANCESI "erd 3B030ZTD
J) DzieP dUvki ©) 2izPA°AE dUvi 1)vaAlA duvi ) 2iPA°AE dUVA
The countries which did not join any of the power blocs is called

a modernworld b. Medivel world c. Third world  d. contemporary world

Bean 5ot Sl PR0BTY Ve BT YOTPOTLTLY  FITED

J) EAlAéQgtU%A NgAiiAv “olvirlz _]AZ ©) gAwa&'A¥AVgAaz JAZ

1) d£_ AS: ©ZAVgidizjAz r) . 2lizeezkg2AvgidizjAz

The Temperature is high during summer in North India because of

a) oblique rays of the sun. b) cold night ¢) over population d) distance from sea.

PEABIPZ PAQiU%° F 2igUvi ©ZAV PAgA8giva
J) 88K i ©)NPi 1) 2Az 1) Phvq

The forests of Karnataka have this type of trees.

a) Babul b) Oak c¢) Sandal-wood  d) Cactus.

"Agvz Vi® 2ivi Co® DAIEAUR| PEgz 2£z® A« EzAVZ.

J) ¢UAAIIT  ©) TAATA ©of 1) E£Ogi PAWAIIA  r) CAP Axg
The ONGC drilled the first oil well at :

a) Digbai b) Bombay high ¢) Nahar Katiya  d) Ankaleshwar

J) VISCO ©) TISCO 1) MISCO r) lISCO
India's Iron and steel company under private sector is
a) VISCO b) TISCO c¢) MISCO D)IISCO

fvg .2k IU%ER 8UPj ®L PEASIP _gPAg PIUEAQ AiEAdE
g g 5 >
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J) ¥. @k «&  0©) giv «hvae 1) _AiM 1z r) ¥APAei PAAIiOPEH
The Karnataka govt. introduces this, for the help of farmers
a) Crop insurance b) Raitamitra c¢) Swayam Siddha d) package programme

15. _t PUAJPU%° P®, 2iAgia PA'NOPjU 2ivih GvizPjU 2iiUdz+d£ oig®l galz A
J) gATAAIA | EPIUAJPA nU2)  ©) PIUAjPA «£A, PAAZee
1) “"Agvz PUAJPA 2iAq¥%  r) PAAZaBIUAJPA A
To Privide guidance to craftsmen and small producers this organization was estab-

lished
a) Central Small Industries Corporation b) Industrial Design Centres
c) Indian Industries Board d) National Small Industries Corporation.
II. SA° ©1 elU2£l _EP ¥zU%Az ~"wdRiAr 5%1=5

Fill in the blanks of the following:

16. 2iizaAiIAE2EN ¥Ebei»1z 2Ez@ zAt :
The first country to launch voyages across the sea was

7. =ededod w9n" INomR, Towseodson B3 WOFT NRCEOND, BT THE
The Berlin wall was demolished in the year

18. UhsdAt 2i»YAilg «PA_P CEIaRiArPEQ®I PAAIASPEHAEN ©«iPAY: AVzZ.
The scheme enforced for the development of rural women is

19, ajjgival PEAGRIAQ® WAQP 2iVAILER vgivz.
winds bring rainfull to the Coromandel Coast of Tamilnadu.

20. ¥AEgi g¥h 24¥gP Gvai nz+3£2Avz.
is the best example for Entrepot trade.

1. 21. ©EA¢T §g—hj/Match the following 5*1=5

¢aliR _PASg/Dual govt n.©.2iPA"/T. B. Macaulay

e TR BeI/Stri Purusha Tulna xA2}_i ¥£i/Thomas aine

&£z® PAEAEL _®PUAg/The First Law member gASmI® Pi&ti/Robert Clive

PAACERIA »Az/K PA Adi/Central Hindu College  VAgA "A—A 1Az/Tarabai Shinde

©_gAAv aAvP/A famous Thinker Dia " Ami/Annie Besant
gheldghaiaEio£ghAiii/Rajaram Mohan Roy
gA ©.Dgi.CA™ ", (gi/Dr B.R.Ambedkar

©T Q0 0o

IV. PYUVE ¥ai)hU MAZA 2APiz° Gvj1j 9*1=9
ANSWER THE FOLLOWING IN ASENTENCE EACH:
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22,

23.

24,

25.

26.

27,

28.

29.

30.

31.

32.

33.

34.

35.

¥igAzg M¥Az2l AiiAgAYU £q-Avi?
Between whom the treaty of Purander was signed ?

C2AJjPal 2EZ@®EA «+ Aillz2EN ¥&d2, @) PAGERAEL?
Why America entered the First World War ?

BRTES O3ReBTONT), LRFT D O 0TZ?
Why Marshall Plan was introduced by the President Truman ?

‘«mEA CCPAGREN AiiAgh Z A-i, kagh?
Who has Veto power ?

2003g° C2iAjPA EgAQE 2~ zA% 2iAq®A PAGERAEL?
Why America attacked Iraq in 2003 ?

'CalAjPAiz UAACA" JAZA AiiAgER PgAilivig?
Who is called Gandhi of America ?

UAUAECAIA 2MRd " E«lAil PAQEN ' Mzg 8E' JAzA KP PgAiliagh?

The delta of the river Ganga is called as Sunderban, Why ?

“"Agvz CViAv ©YAik PivP 8Azgh AiiA2izi?
Which is the oldest and artificial port of India ?

' ATA ghdi JAZgAER?
What is a welfare state ?

PLVE ¥ad)hU Jggh 2APUY° Gvjij.
Answer the following questions in two sentences each.

aP zhagid MqAilg gAdQAAIA _AZEUYER wihj.
What were the political achievements of Chikkadevaraja Wodeyar ?

D 3O, WONTTRTD [PAT FTINEY, BOWWA.
What were the achievements of the Diwan K. Sheshadri lyer ?

givaij ¥zwAill GYia givg »v2El gQivi. ©AU?
What are the features of Ryotwari system ?

F.EJE dE Z A eh®i ZVARBAIMEL CXO¥ETLI2AV _AWnizgh <AU?

How the people of Isur organized the Quit India Movement ?

.9zAg ¥mi®gh ©izgh "ACE° ¥EA°R T PAAIIABZQU £q,®h PAGEUYAEL?
Why Sardar Patel decided to launch 'Police Action' on Hyderabad ?

16*2=32
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36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

VI.

47.

48.

49.

eﬁx‘ﬁ%’ TOF NPODONLD QT ﬁdwﬁ%j&b &P,
What were the causes for the failure of the League of Nations ?

AfZ®EA PE® AilizP PAQEUYAEL?
What were the causes for the first Gulf war ?

AiifdlzAzgE £A®N ,2iAd WAVP Z1ianPUvER © §2.
Name any four anti - social activities.

«* _A_Aik Jggh AZEUYER wit.,
Give 2 achievements of UNO ?

1948 d@ SDEVS{TJON 00T TRCR ﬂ%‘j?\b &P
Which declaratlon was made by UNO in the year 1948 ?

Gvg “Agvz £CU%UE zQt ““Agvz E£CULUE Egia 2 v ULEN wist,

Give at least two differences between the north Indian rivers and the south Indian rivers.

AjjAURh i CCJE G¥AIEAUUYVAEL?
What are the uses of Manganese ore ?

PIUAJPUY: A¥EU "APAz CUVi CAUYA AiiA=jal?
Which are the factors needed for the location of industries ?

"Agvz ¥22i wigz £ARL ¥&IR 8AZgIUVEL ©_ j1
Name the 4 important ports of the West Coast of India ?

Ule ajvi & ¥&iitz PUAJPUY: AiiARizAzgk 4 2k IULEN Sg—ij.
Give the four problems of cottage and small scale industries.

Al EgERIL ¥AZ2ATOP AIEADEAIM «¥@2AUGL PAQEUYVEN wht.
What were the causes for the failure of the 3rd Five Year Plan ?

PUVE ¥ail)hU 2iEgh-£ARK 2APIUY° Gvjij
Answer the following questions in 3 to 4 sentences.

1857g zAUAIA ¥JuARAUYZER wht.,
What were the results of the Great Revolt of 1857 ?

YEAZIOVA, g A¥POCAZ ““Agvz 2 OAjz ¥JuhRiUYAER?
What were the impacts of the Portuguese contacts on India ?

CEPgVAIL o@igul _gPAg PIUEAQ PBEUYAEA?
Which are the various measures taken by the govt to eradicate illiteracy ?

6*3=18
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50. «ixee’A AAiA JAZgAER? Czg ®PEUYAER?
What is Mixed farming ? Which are its characteristics ?

51. ««zEAzZA+ £¢ PE2 AIEADEVY: 2HRI GZA+UYAER?
How are multi-purpose river valley projects useful ?

52. "Agvz DydP CORACAIL® «zA2 2i¥igz ¥ARIRVAIMEN Zadt.
What is the importance of foreign trade in India's economic development ?

VII. F PYUVE ¥ahU JALA-Ovi 24PUY° Gvjij.
Answer the following questions in 8 to 10 sentences.

53. «x A Ak AZEUYEN «+Aq2,
What were the achievements of UNO ?

54. E¥vh CAxUY: PAAiAOP&EZ AIEADEUVEN wht.
Which are the important programmes of the Twenty Point Programme ?

55. _AvAvEeCEAghlz® KA IZAZZEA, g ¥AVEEN whl,
What was the role played by Subhash Chandra Bose in India's freedom Movement ?

VII1.56. "Agvz £PA+AIAEN 8gzA PYVE | YUYEN Ulgiw

1. Cghay, "1 2. £26zA £¢ 3. Cailv_g
Draw an outline map of India and mark the following.
a) Aravalies b) River Narmada c) Amritsar

*khkkkkhkkkikkikkikk

4*3=12

3+1=4
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Model question paper - 111
SOCIAL SCIENCE

JANMd <ALz YAENBE- 111

Four Answers are given for the following questions or four incomplete statements. Choose the best
answer and write it in the space provided. 15*1=15

The first kannada newspaper was started by

a). S.N Hardikar  b). Moegling c). Charles Wood d). Bal Gangadhar Tilak
PEIqz 2£z® ¥wBAilEl E2gl DgA©1zgh

J) J,iJEi. @rdPgi ©) 2EAVAUI 1) ZAid @lgi r) TA®UAUAzgI weP

By this act T.B. Macaulay become the first law minister

a). The Act of 1773 b) The Charter Act of 1813
c). The Charter Act of 1833 d). The Charter Act of 1853
F +A £z ¥B&g 2IPA~ 2£z® PAEEEL  ®PUAgEAZEL.

J) 1773 g #A £ ©) 1813 g +A £

1) 1833 g +A £ r) 1853 g A £

The Raja of Mysore heard the advice of this Diwan and did not make arrangements for the hoisting
of tricolour

a). Arcot Ramaswamy Mudaliar b). T. Siddhalingaiah

c). K.C.Reddy d). Alur venkata Rao

E2g 2iAvi P, @2icighdgh 2k £j£° d2i A ,gPAg Al j2 otdAIlREN ¥Bm °®
J) DPAdmMi gA2i A"l 2Ez°AiiAgi  n. 1z°AUAIA
1) P. 1 gr r) D®Egh 2APIghai

4. Sardar Patel launched 'Police Action' on Hyderbad because of

a). to control the Rayakars

b). to Persuade the Nizam

c). the Nizam banned the activities of the Congress

d). the Nizam imported weapons to fight against India

.zAdgi ¥mi®gh ©izAzzi A _AEz 2 ¥EASA T PAAIIADZgu PIUEY®L PAgt
J) gehPAggEll @il 2AP®I

©) uelRif aigace @i

R) QB FORAT BEDTLIRYI, HCOATO0T

r) oeldifl “igvz «giz OﬁEAgAq®A +_A_UvEN Dizi 2ikrPEAQZIjAZ

5. The Communists organized a bond of revolutionaries all over Russia for this purpose
a). industrial development b). Collective farming

c). to end the rule of Czar d). Welfare of the working class

smmm d—aémcsoé 590830 ANE TWATT emdeé

J) P UA_] PA ~"Y2€UU ©) _A2iE»P AUAal/z a u
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6.

7. To provide market for the products of SC and STs, this has been established

10.

11.

1) ghiAgi D¥%P CAVIUEY% ®L 1) PA«idPg »vgPul

UNO was established for this purpose
a). to establish permanent place in the world b). to protect economic security

c). to provide social justice d). to prevent third world war
ébeﬁ~o~o$aab COIRY ROFPNY AITTY ARID BT COTIT—

«tz® ag+ w Al @l ©) DydP ““zee Al ®i
1) A2GAFP £AAIL MzV _ ®) r) 2iEgEA aAOAAIAAZ vqv 1 ®i

a). National Literacy Mission

b). Tribal Co-operative Marketing Development Federation of India
c). LBR.D

d). Jawahar Rozgar Yojna

TOSH TONTND YOIVOAT JIRASR QI m&%% WBNIFD 88 szoﬂ@ofma‘)o‘)1 m@&ﬁ@aﬂd
RD)TYEOD TFITID mo@f

©) m% i PE C¥gna| AjAPONAUT g2@¥i2IAMI ¥quA+£i D¥i EArAiiA

1). L.Dgi.r.;.

r). d@i°g gEheiUAgi

The scheme which is established for the development of rural women

a). Indira Women Welfare Programme b). Swayam Siddha
c). Rastreeya Mahila Vimochana d). Shtreeshakthi
UhgiAAvg 2i»YiAilg «PA P CEARRIArPEN +A £

C).EACQA @i»Yih AIEADE ©) A1z

1), gATRAIL ¥k «2EAZE r). 1 +Q

"As no one is a slave, no one is a master" this was the belief of

a). Abraham Lincom b). Martin Luther King

c). Nelson Mandela d). FW.Clark

‘AliAgE UL A2ig®, »AUAV AiiAgE MgAilg®' Ezik E2g AP
C). CE®IA °APEI ©) 2iANAEI ®EXQi 1) £O£i A A r).J¥i.q8K PPid

Rain comes during summer season in some parts of India due to

this reason

a). long day b). dust storms and hot dry winds

c). local heating and convection currents d). distance from the sea

"Agvze “"A1U PARZz° P®23l Pq @i OMiRlzA- PAgt

C) ¢AwWd °URL ©) +*ARCAz PErz MEUA: 2ivi z/E%E ©OgiUAY
1) ZFocod wgd DH, TPOS Twes r) . 2lizeezig2ivgidizjAz

The govt. has formed Natinal Forest Policy to
a). celebrate vanamahotsava b). protect and conserve
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c). To provide raw-materials to industries d). protect wild life

gATAAIL Coti oAwAIAEN g/ . ®F PAQE2A£AZQ

J) 'agajofgiva DZj , ®k ©) PAQiUY% “¥:2€U 2ivik AgPu
1) PIUAJPU “APAz PZA) & A MzV_ ®F  r) ¥A&PUS2EL AgQ, ®k

12. Petroleum is called as 'liquid gold' because of
a). it is used in all economic activities b). the second important power resource
c). easily burning liquid d). it is made of Hydrogen and Carbon
YMABBAIAEL z8gk¥z afl JEIRgh -KPAZzg
J. _P® DydP Zli@nPU%° 8YPAIiAUIvZ. ©. JgqfAil ¥&IR +Q A¥EA®
1. j@ @iV ©kw,_ 8°lizAz za2 | r. d®d£EP 2ivi EAUA® Co®UY «itde

13. This city is called ' Manchester of India’
a). Ahamadabad Db). Kolkata c). Chennai d). Mumbai
“Agvz RAAZ  gi JAzA F £Ug2EHl PgAilivig

J. CoajziAzi ©. PEA®VA 1. ZElE r. 2MA8A

14. The good quality agricultural products are given this mark
a). Indian Standard Institution ~ b). AGMARK c). Lokayukta d). 1.S.D
aa AiEAVEILY: Uit2i12El ozdj k2 a£9gh
J. EArAILET _AAQQid A, ©. CUIRIAPI® 1. ~EAPAAIMP r. L.J.ir.

15. National Small Industries Corporation has been established to
a). To Provide Training to craftsmen
b). to provide land and shelter
c). to provide guidance to small producers
d). to help the marketing of products of small scale industries
gARAIA | PIUAJP oU2k At1z Gzt
J. PA«AdPJU vg Aw chq®i
©. Tt PUAJPU%U o@i+£ ajvi D+ggh oAq®i
1.t GvAzPjU 2iiUdz+d£ oAq®i
r. _t PUAJPUY% GVEILY: 2iAgAIP £g2l oAq®i

I1. Fill in the blanks of the following / ©ngi® _WUY%ER EP2AZ ¥zU%AZ "~ wdRiAr 5*1=5

16. The foundation for the Portuguese power in India was laid by
¥EAZISVA, g DQvP ~"za8IEAC CAQz2EM

17. The headquarters of SAARC is located in
_APid Ezg Dg%v Pbij £°z.

18. The Consumer Protection Act was passed in the year
MTITI), JRCTEBEWOT  TIFLD SQ TT 03me IR ORRIECROND.
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19. Pre monsoon rain that occurs in Kerala in April and May is called as

J ke, 2k wAUY© PAgvize ©MA2 @Y AIAEN JEkagh.
20. To supply products to the Fair price sho[ps is established.
EAAIA 7 CAUrU%U _ gPAUYER ¥/Eg:, ® aUai _A¥EAiIA-RVA
I1l.  Match the following/£A¢1 §g—ij 5*1=5
21. A B

a. The Regulating Act/gUi AnAUI #A_£ 1. Dayananda Saraswathi/zAiiAEAZ g, w
b. The Indian Council Act/ "Agvz PEa i DPi 2. Atmaram Panduranga/DvAgAA ¥AAQigAU
c. Arya Samaj/DAiid ,2iAd 3. Jyothirao Phule/e/EiwgA2i ¥i—
d. Prathana Samaj/¥Asd£A | 2iAd 4, 1773
e. Satyashodhak Samaj/_vi +EAzP _2iAd 5. 1919
6. 1909
IV. Answer the following questions in a word or a sentence each 9*1=9

F PYUVE ¥ahU MAZA 24Piz° Gvj?.

22. Which was the first princely state who joined the subsidiary Alliance ?
JChIRP _tEH ¥zwU MY 2Ez® zA2RAIA zAg AiiAgh?
23. Who introduced New Deal Policy ?
'£/EVE AIEADE' JAS DydP _izAguAilEll eAjU vAz2gh AiiAgh?
24. Which was the party built by Hilter ?
»Igi Pnz ¥P Aiii2izi?
25. What is the greatest achievement of WHO ?
«* DgEAU A AL 24CA AzE£ KEL?
26. What is the importance of Biological Weapon Convention ?
SAIIA®FP | PEIREIXEI 2¥E£( (BWC) JAzZgAEA?
27. What is OAU ?
M.J.AIR. JAZgAER?

28. What is the important feature of Mangrove forest ?
AjNAULERT Cgtilys ®PEUYAEL?

29. What is called ‘pucca road' ?
¥PA g, UYh JAZgAER?

30. What is economic planning ?
¥AZ2A6P AIEADE JAzZgAER?

V. Answer the following questions in 2 - 3 sentences 16*2=32
F PYUVE ¥aihU Jggh-2AEgh 2APiz° Gvjt.
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

What are the causes for the first Anglo Maratha war?
MAZ£A DAUEA 2igho Aillziz PAGEUYAEL?

What were the terms of the treaty of Mangalore ?
WONERTLY LTOTT ROBDRTE?

What was the impact of the growth of transport facilities on India ?
CAJU _A¥PS Pivae Az ¥bw Agvz @il Ohjz ¥@@alf£l?
Write an account on the Quit India Movement

Qmi EArAiiA Z¥@%Aik PAjvi 8g—ij.

What were the conditions of Karnataka before independence ?
KQAPgtz 2£z®k PEASIPZ 1wUwUYd ©Avzal?

What were the two important results of the first world war ?

AL ZREAIL 2iCMAIlZCAZAZ Jggh ¥JjuhRiUvid Aiikaal?

What were the aims of NAM ?

C°¥ ZVayAik GzA+UYVAER?

What is tge significance of COFEPOSA ?

PAYSEA Az ajovaiel?

What aare the functions of Economic and social Council of UNO ?
«*_A_Ail® DydP CAUE _ARAFP _ «lwAil ¥&HAR UAJUYAEL?
Why India has not signed the nuclear non-proliferaation treaty ?
“Agval CEM+Q Wi_ia M¥AZP _» ©AP¢g®i PAGERALL?

What are the differences between west coast and east coast ?

¥2aj wig ahvi ¥E25 wigUkvgia 2vA UYAER?

Which are the nuclear energy stations of India ?

“Agvz Cti+Q A2gUyd AiiAaR?

Why Jute industries are concentrated in the lower Hooghly basin of Rajastan ?
. TOE PASASEUYA ©ZAV ¥22) 8AUNz® A'v2AVgRL PAGEUYAEL?
Why air transport is not popular in India ?

DTPT OINTR) LOTTY WHEBH BIRONTWING DF?

How industries causes the development of agriculture ?
PIUAJPU%A AU 22 _fAikz° GVAzEAIM ©Z@L | CMik 2ilgiva?

Why industrial development was not satisfactiory during the 5th Five Year Plan ?
LzEAIL ¥AZ2ATOP AiEADEAIR®  PIUAJPACRIC! KP | 2iAZAEPg2AVG°®?
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VI.

47.

48.

49.

50.

51.

52.

VII.

53.

54.

55.

Answer in 6 sentences 6*3=18
F PYUVE ¥aiU Dgh 2APU%° Gvjt.

What were the causes for the decline of the French Power in India ?
¥&7g C2EwWU PAQEUVEN PEr?

What were the results of the First war of the Indian Independence ?
“Agvz AvAvie, AUlgz ¥juh2iUvd Aiiiaal?

Which are the measures taken for the welfare of women in India ?
alsyAilg AERIAEREN GvaIUEY, ®h PIUWPEY: Az _AzAguUvd AiiAaial?

What are the causes for water pollution ?
d®_A¥£AR2 OiU 2i°ALUAYIvA?

What is agriculture ? Which are the types of agriculture practiced in India ?
aa jAjh JAZgAER? "Agvz© gErAilegid ««z @3 fAik «zAEUVA Aiiiaial?

What is the importance of foreigh trade in India's economic development ?
“Agvz DydP COAGAILC «zA2 ai¥ig °Zi ¥AsHiRV ¥qt¢z. KP?

Answer the following questions in 8 to 10 sentences: 4*3=12
F PUVE ¥aUhU JABA-Ovi 24PUY° Gvjt.

Explain the non-co-operation movement .
C.OPAg ZYRYHAIAEN «2j1,

Has the foreigh policy of India is successful ? Justify.
“Agvz «zAtAAU olw | ¥@2AVz JAzA OlU | Blyd A«j?

Which are the Measures taken for the improvement of agricultural marketing system in India ?
“AgwhAiA P 2iAgiPmAiA 22 AilREN AzAj @1 PIUEAQ PEHEUYA Aiidxyal?

VIII1.56. Draw an outline map of India and mark the following 3+1=4

“"Agvz EPAILEN CAz2AV ©r1 Czg® PY%U PENgi® | YUYVEN Ulgiwt.,
a) 82 1/2 east longitude 82 1/2 ¥E25 ghSAA+

b) River Krishna 3 IO

c) Cochin PEa

*hkkkkhkkkkikkkikkikkkik
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e E.S.LC. ExuﬁnsﬁonMach-%lO
Time: 3 Hr Max Marks: 100
GENERAL INSTRUCTIONS:

1

1. The question-cum-answer booklet has no parts.
2. The question-cum-answer booklet contains 60 questions including sub question of
Match the following & main questions.
3. Follow the instruction given for multiple choice, fill in the blanks and match the
following and write the correct answer.
4. For the descriptive questions enough space for each question is provided. You have to
answer the question in the space provided.

Code No:8SE Subject: Social Science Time: 10.30 am to 1.30 pm

Max Marks: 100

Four alternative are given for each of the following question/incomplete
statements. Choose the most appropriate alternative and write it in the
space provided below each question

15x1=15

U 1. Which one among the following is the characteristic of Ryotwari System?

a) The land revenuc was fixed on the basis of fertility of land and
irrigation facilities

b) The land revenue was fixed on the basis of production of land

©) This system was introduced in north-western and central India.

d) The former revenue collectors were recognized as permanent owners
of the land.

AR oo vivvnontuns veived UEIPEE oy inie g ibe v

2. The Government of India Act 1919 AD is an important step in shaping

the present Parliament because,
a) responsible government was started.
b) Local self governments were started '
©) Bicameral legislature at the centre was created
d) The subjects of administrative department were divided into three list

0T it o Lt IR S e s g

3. Venkatappa Nayaka of Surpur has secured an unique place in the first

war of Indian Independence, because he,

a) Shot himself refusing to accept British dominanoe
b) Refused to pay the English the subsidy

c) Upset by the doctrine of Lapse.

d) Made the Zamindars to revolt against the British.



4. Junagad State refused to join Indian Union as
a) The nawab of Junagd wished to create new country
b) The majority of the people in junagad wanted to join Pakistan
c) Pakistan occupied Junagad State
d) The nawab of Junagd wanted to join Pakistan.

Ans: ..

5. As a result of Merji restoration,
a) Commodore Perry sectired the right of trading with Japan
b) Many European countries entered Japan for trade
c) Japan developed as a rich industrial country
d) Japan followed a policy of isolation

Pt ARG i

6. The event which was responsible for the end of the Second World War
was, :
a) The USA dropped atom bombs on Hiroshima and Nagasaki
b) Hitler committed suicide in Germany
¢) United Nations Organisation was established.
d) Italay was defeated in Aftrica.

ARG o, A5 T iieads e ehae ke

7. The main objective of Operation Black Board Scheme is
a) Universalization of Primary Education
b) Stressing adult education and female education
¢) Providing sufficient teacher and infrastructure to schools
d) Providing education to women and backward clases.

AN s iniridier e B veh s e 50

8. The idea of gender equality come into force when,
a) poverty is eradicated
b) dowry is eradicated,
c) equal importance is given for men women in public employment
d) the economic inequality is solved.

RN % e R R L

9. Developing countries are struggling to achieve economic self-sufficiency
because,

a) They want complete with all developed countries \

b) There is no value for political independence unless to achieve
economic development

¢) They want restructure their economic and political conditions

d) The want to solve the problem of economic inequality.

Ans: ....




10. Rinfall occurs at few places in India during summer, due to
a) high temperature and hot dry winds '
b) local heating and convection currents
c) relief features and monsoon winds
d) decrease in temperature and increase in pressure

ANNE: ... 0 vt v e TR S VR T T COR TR N A 4

11. Tropical evergreen forests are found where there is
a) high temperature, high humidity and low rainfall
b) low temperature, high humidity, low rainfall
c) high temperature, high humidity, heavy rainfail
d) low temperature, low humidity, low rainfall

Z
- T T L TR - SR ety - TR

12. The objective of Baramar energy station is
a) producing large quantities of solar energy
b) conducting research in the production of tidal energy
¢) carrying out special research in wind energy
d) producting large quantities of Geo-thermal energy

IEEBL oo ann 0id B8 ovn 00 564 8o smup s s sav guid ¥4 god E0LEEE S0
13. Railway wheel and axel plant was established at
a) Yelhanka b) Chitradurga
c) Perambur d) Kochi
DYDY oot vionhits shinss bsbvabhnsate sed i E gV AITOdNIE VoEA
14. Indian Grain storage centre is at
a) Hapur b) Bhopal
c) Mysore d) Suratgarh
ADS: AR i TV dedveiie e silaide Y egey

15. The aim of National small industries corporation is
a) providing training for workers
b) designing the industrial machines
¢) providing guidance to small producers
d) helping to market products produced in small scale industrics

Fill in the blanks with suitable words. Sx1=5
16. The English commander who defeated Bussy at Wandish was .........o..een
17. Ancient Mesopotamia is Modern ...............

18. National Adult Education programme was introduced in the year ...........
19. The highest temperature in India is recorded At ........covvmeee
20. The most ancient export of India i8 ....ovoviivii



21. Match the following list ‘A’ with suitable given in lst ‘B’ and write
them in the spaoe provided.

B
a) Dr.Rajendra Prasad i) Universalisation of education
b) Jawahar Lal Nehru ii) The first trade union
¢) N.M.Lokhande iij) Chairman of drafting committee
d) Vittal Ramji Shinde iv) Leader of Interim government
€) Jyotirao Phule v) Father of renaissance

vi) Depressed classes mission
vii) President of constituent assembly
viil) Home rule league movement

Answer the following questions in a sentence each: O%x1=9
22. What is Khalsa?
o AP BNSRGLATN T DATRO R e U0, I P
23. What was the effect of cultural revolution in China?
ot RS e G TS T S S
24. Why did America enter the Second World War?
Ans: . VoV 0h ARkl s pat i s e aits N
25. What is the grcau:at achievement of the World Health Organisation?
Ans: RPpst S PPN RIS A M
26. What was the aim of the ASEAN?
b - LSRR L S e
27. How did the USA come to know India’s position regarding Nuclear
power?
BN oA s SR e

28. Why are the Mangrovc Forests called Swederbans in the Ganges delta?
(0T T SRS i

29. What 1s’I‘ransport?
ADE: v seivi v T 7y S

30. What is Green Revolution?
ADS: i

Answer the following questions in two sentences each: 16x2=32

31. What were the terms of Tmaty of Madras?

32. Mention the results of the First Anglo Maratha War?
R i5e i s ec ekl




33.What are the advices of Charles wood seen in the present system of
education?
P TSIl WL TR SRR T SRR s LT

34. How was Quit India Movement of Isure different from the movement of
other places?
0 T R s o O (AP S ONDR S AR, s

35. Why did Sardar Patel devide to launch ‘Police Action’ on Hyderabad?
ADS: iunivian

36. Give any two reasons for the failure of Lcaguc on Nations.
Ans: .

37. What are the aims of the Non—Ahgnod Movement?
Ans: .

38. Wh10h are the ﬂlcgal methods used for proﬁteenng?

39. What is the role of the International court of Justice in the U.N.O.?
Vot et R O st RO R P GOt K L

40. How are the Human nghts pmtccted under the Indian Constitution?
ADS: ...viiviimregis o

41. Differentiate between the Western Ghats and the Eastern Ghats.
FL o RN e A BT ST e P Rl

42. How is Coal formed?
T b b IR SR Sy L R LY

43. Oonsumptmn of cement is the index of the country’s progress, How?
Ans: . b 1 L A s

44, Mention any two dmadvantagcs of Air transpon
Ans:. . sis

45.How are small scale industries helpﬁ.ll to rural areas?

Ans:
46. Why did the third five ycar plan fail to achieve its objectives?
P T R,
Answer the following questions in six sentences each: 6x3=18

47. Give reasons for the decline of the Portugucac power in India.
Ans: .



48.Why did the First War of Indian lndcpcndencc fail?
ADB: o.iviiviivnnnendye " "

49, How is India trying to eradicate poverty through Intensive Rural
Development programme?
PREBETTE. oo vionis voiitll dsvios sinh

50. How is soil erosion prevented?
ATERE. (i1 100 sashsr c0r s i es 8 g

S51. What is Agriculture? Mention different types of agriculture followed in
India?
Ans: ....

o2. Indla s facmg adverse balance of paymcnt since 1947. Why?

Answer the following questions in eight sentences each: 4x4=16

53. Explain the Quit India Movement.
PRI i e - vas v Uit b ca & SN AT 455 wasase s dhiows

54. How do you provc that India is havmg good relationship with Russia?

55. How is Agncultun: hclpﬁn in Economic dcvcbpmcnt of India?
R R :

56. Draw an out line map of India and locate the following on it;
a) Tropic of Cancer
b) The Western Ghats
c) Mumbai

Pt T9L L )
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